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Cuesticon Label | Comprehiension



The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A - Type | B - Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 61547510748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018. Based on the
data 1n the table. answer the questions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Type B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30,000 32.000 25000

Options:

61547541901, 1
61547541302, 2
61547541902 =2
£1547541304 4

Question Number : 2 Question Id : 61547510749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 20167

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % “4) 15%
Options:

£1547541905. 1
51547541906, 2
61547541907, 3
615475413908, 4

Question Number : 3 Question Id : 61547510750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 (2) 4
(3) 3 4 1
Options:

61547541909 1
61547541910, 2
E1547541911. 3
B1547541912. 4

Question Number : 4 Question Id : 61547510751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

515475419121
61547541914, 2
61547541915 3
61547541916 4

Question Number : 5 Question Id : 61547510752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 20158 (4) 2016
Options:

515475419171
61547541918, 2
61547541919, 3



B1547541920. 4

Question Id : 61547510747 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension
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2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 61547510748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 10 % 2) 5%
3) 20% 4) 25%
Options:

51547541901, 1
61547541902, 2
61547541902, 3
E1547541904. 4

Question Number : 2 Question Id : 61547510749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T4 2014 | IeATEd A ST TEA1 = TG 99 2016 § Ieqted C 3T ATEAT 6 7m0 ha ufdera are

1) ~33.33% (2) ~66.67%
(3)  50% 4) 15%

Options:



£1547541905. 1
61547541906, 2
61547541907, 3
615475413908, 4

Question Number : 3 Question Id : 61547510750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
. 'K i =
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(1) 2 (2) 4
(3) 3 4 1
Options:

51547541909, 1
61547541910, 2
61547541911, 3
6154754191Z2. 4

Question Number : 4 Question Id : 61547510751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o ™9 391 § T 207 3eITed B SET STEAT o6l ST TS 349 o1 7

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475419121
61547541914, 2
E1547541915. 3
E1547541916. 4

Question Number : 5 Question Id : 61547510752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frteIga § & foFF 99 991 TR % a1ed] 1 Fa 3caed 60000 o917

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

61547541917, 1
615475419158, 2
E15475419143. 3
51547541920, 4



Sub-Section Number: 2
Sub-Section I1d: 615475466
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 61547510753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547541921,
E1547541922
B1547541925
61547541924

o LI

Question Number : 6 Question Id : 61547510753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UF =FEd 70 e ®1 90 T H 99 F 25% BH 32T 7 | 30% AT FHEM & 0 234 9= H ThaAl
UTe ST BRI Y

(1) 9b (2) 100
(3) 105 (4) 110
Options:

E1547541921. 1
B1547541922 2
61547541923, 3
61547541924, 4

Question Number : 7 Question Id : 61547510754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) i ) 7:2
(3) hia 4) 5H:2
Options:

61547541925 1
E1547541926. 2
B1547541927. 3
B1547541928. 4

Question Number : 7 Question Id : 61547510754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
U TosRdl @1 60 T Wid 7RI, R 78 ¥ uid R, gom # = f 31 T TR o e g |
e B arfer 9 39 e 1 76.80 TR A @ F T W 20% A9 AMFT = HF ?

(1) 114 2y 7T:2
(3) 518 (1) D2
Options:

515475419251
61547541926, 2
61547541927, 3
615475419258, 4

Question Number : 8 Question Id : 61547510755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which given of the following sets of letters when sequentially placed at the gaps 1in the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) achbbb
(3) cbhbhba (4) abbbe
Options:

B15475419259. 1
61547541920, 2
61547541921, 3
61547541932, 4

Question Number : 8 Question Id : 61547510755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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gt 31

bb b ab cbba  bebb

(1) achac (2) achbbb
(3) chbba (4 abbbe
Options:

615475419291
61547541920, 2
E1547541921. 3
E1547541932. 4

Question Number : 9 Question Id : 61547510756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Out of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61 kg. (2) 69 kg.
3) 70kg. (4) Tlke.
Options:

61547541932, 1
E1547541924. 2
E1547541935. 3
61547541936, 4

Question Number : 9 Question Id : 61547510756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et 10 fammiear 8 & 9 faenien =1 sitas === 60 .01 2 | 3tz 10 o faen=fi =1 o= adt 10 fa=nir=n =
3iad 994 § 9 ., s1fa= 2, @1 109 feenefi =1 9= =

(1) 61 .. (2) 69 fHm.
(3) 70 T .. (4) 71,
Options:

51547541933, 1
61547541924, 2
61547541935 3
615475419356, 4

Question Number : 10 Question Id : 61547510757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

61547541957, 1
E1547541938. 2
51547541939, 3
51547541940, 4

Question Number : 10 Question Id : 61547510757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547541937, 1

61547541938, 2

61547541925, 3
61547541940, 4

Question Number : 11 Question Id : 61547510758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

E1547541941. 1
61547541942 2
61547541943, 3
61547541944, 4

Question Number : 11 Question Id : 61547510758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafefiaa § & o9 =afea #1990 fmw a1 A =, T At o st mE . F oaiE W
=0 =41 7

-
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Options:

E1547541941. 1
61547541942 2
51547541943, 3
61547541944, 4

Question Number : 12 Question Id : 61547510759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

61547541945 1
E154754194E. 2
E1547541947. 3
51547541948, 4

Question Number : 12 Question Id : 61547510759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547541945 1
61547541946, 2
E1547541947. 3
51547541948, 4

Question Number : 13 Question Id : 61547510760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547541949, 1
61547541950 2
61547541951, 5
61547541952 4

Question Number : 13 Question Id : 61547510760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ffarad 5 ¥ FoFe g o T8 9 (T P ) TG0 F 93 & 7
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(3) T, HISE T 3R A9

(4) A, HTHISTR T 30 =1

Options:

61547541949, 1
61547541950 2
£1547541951. =2
61547541952 4

Question Number : 14 Question Id : 61547510761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E1547541953. 1
51547541954, 2
51547541955, 3
61547541956, 4

Question Number : 14 Question Id : 61547510761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

YNE § 919 2011 9% Fhdd TP S99 R 97 59 A9IN0T 97

(1) a8 &R 421 (2) Had 10 31 75
(3) I 75 W 421 (4) FaA 102 3R 515
Options:

61547541953, 1
E1547541954. 2
E1547541955. 3
51547541956, 4



Question Number : 15 Question Id : 61547510762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s signified by Udaharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3} Conclusion proved

(4) Universal proposition along with an instance
Options:

61547541957, 1
61547541958, 2
E1547541959. 3
51547541960, 4

Question Number : 15 Question Id : 61547510762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547541957 1
E1547541958. 2
E1547541959 3
61547541960 4

Question Number : 16 Question Id : 61547510763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. 1n classical Indian School of Logic. 1= a case of :

(1) Comparison (2) Implication
(3) Perception (4) Verbal Testimony
Options:

E1547541961. 1
E1547541962. 2
51547541963, 3
51547541964, 4

Question Number : 16 Question Id : 61547510763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
615475419611
61547541962 2
61547541963 2
1547541964 4

Question Number : 17 Question Id : 61547510764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition 1is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition is false, “I” proposition is false and “O” proposition is true

(4) “E” proposition is true, “I” proposition is false and “O” proposition is false
Options:

51547541965, 1
61547541966, 2
61547541967, 3



E1547541965. 4

Question Number : 17 Question Id : 61547510764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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=
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Options:

61547541965, 1

61547541966, 2

61547541367, 3

61547541968 4

Question Number : 18 Question Id : 61547510765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options:

51547541965, 1
61547541970, 2
61547541971, 3
E1547541972. 4

Question Number : 18 Question Id : 61547510765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547541969, 1
61547541970, 2
E1547541971. 3
B1547541972. 4

Question Number : 19 Question Id : 61547510766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?

(1) Questioning to check for the understanding of students
(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour
Options:
61547541973. 1
61547541974, 2
61547541975, 3
51547541976, 4

Question Number : 19 Question Id : 61547510766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

[}
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(3)  Hmgd H oW ITel HHAE F 98§ S
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Options:

61547541973, 1
615475419374 2
61547541975 2
61547541976, 4

Question Number : 20 Question Id : 61547510767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
61547541977, 1
615475414975 2



E1547541973. 3
61547541980, 4

Question Number : 20 Question Id : 61547510767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547541977, 1
61547541978, 2
6154754193793 2
61547541920 4

Question Number : 21 Question Id : 61547510768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following 1s NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options:

61547541951, 1
61547541982, 2
E1547541983. 3
E1547541984. 4

Question Number : 21 Question Id : 61547510768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  TuTeH fowergo (2) =AML T3

0 T i U 3.

(3)  TIfEq favemm (4) e &ty

Options:
61547541981, 1
61547541982, 2

61547541983, 3



E1547541984. 4

Question Number : 22 Question Id : 61547510769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the issue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

61547541955, 1
615475419586, 2
E1547541987. 3
E1547541988. 4

Question Number : 22 Question Id : 61547510769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

L [

ST [o9F 5 Fad qgal 98 W94 7 o 7 Wihfas fos i fafem =61 sam a1 gmied gea #i
I o < Tehat B | 9% FuA TRE faum it S Herg A B 7

(1) ST (2) o9 HEE
(3)  SEmE (4) g -ToRdal
Options:

51547541985, 1
61547541986, 2
61547541987, 3
6154754195858, 4

Question Number : 23 Question Id : 61547510770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following i1s not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

61547541959, 1
E15475419380. 2
E15475419391. 3
615475419582, 4

Question Number : 23 Question Id : 61547510770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475419859, 1
61547541930, 2
61547541931, 3
E1547541932. 4

Question Number : 24 Question Id : 61547510771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the factors that do not contribute to the effectiveness of teaching from the options
given below :
(a) Socio — economic background of Teacher
(b) Teacher’s skill in pleasing the students
(c) Teacher’s subject knowledge

(d) Teacher’s personal contact with students

Choose the correct option :

(1) (a), (c) and (d)
(2) (b), (c) and (d)
(3) (a), (b) and (c)
(4) (a), (b) and (d)
Options:

15475419593 1
615475419394 2

61547541935, 3
E1547541936. 4

Question Number : 24 Question Id : 61547510771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a), (c) R (d) 2) (b), (c) X (d)
(3)  (a), (b) 3 (c) (4) (a), (b) 3R (d)
Options:

615475419392, 1
E15475419384. 2
B1547541935. 3
515475419396, 4

Question Number : 25 Question Id : 61547510772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the alternative features from the following, which make open universities as

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (¢) and (d) only
4)  (a), (b) and (d) only

Options:
61547541997, 1



E15475419398. 2
61547541955, 3
61547542000, 4

Question Number : 25 Question Id : 61547510772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) =@ (b), (c) 3W (d) (2) A (a), (b) 3R (c)
(3) A (a), (c) 3R (d) (4) =EA (a), (b) IR (d)
Options:

E15475419587. 1
E15475419398. 2
51547541999, 3
61547542000, 4

Question Number : 26 Question Id : 61547510773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

(h) E-governance 1= related to the implementation of ICT 1n the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) (a). (b). and (c)
(2) (b) and (c) only
(3) {a) and (c) only

(4) (a) and (b) only
Options:
61547542001,
E1547542002,
B1547542003.
61547542004,

[ N

Question Number : 26 Question Id : 61547510773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  (a), (b) 3K (c) (2) Faa (b) 3K (c)
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Options:

61547542001, 1
61547542002, 2



E1547542003. 3
61547542004, 4

Question Number : 27 Question Id : 61547510774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

(a) Software 1z loaded into secondary storage from RAM and 1s then executed hy
the CPU.
(b) A search engine 1= a software svstem that 1s designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
61547542005, 1
61547542006, 2
61547542007, 3
61547542008, 4

Question Number : 27 Question Id : 61547510774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542005, 1
61547542006, 2
E1547542007. 2
61547542008, 4

Question Number : 28 Question Id : 61547510775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he sells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 15 Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c¢)
Options:
51547542009, 1
61547542010 2
61547542011, =2
61547542012 4

Question Number : 28 Question Id : 61547510775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =3 (a) R (b) (2) #aa (b) 3 (c)
(3) A (a) W (c) (4) (a), (b) I (c)
Options:

61547542009, 1
61547542010, 2
61547542011, 3
E1547542012. 4

Question Number : 29 Question Id : 61547510776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It is a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries it needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2)  (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)

Options:
615475420132 1
61547542014 2



E1547542015. 3
61547542016, 4

Question Number : 29 Question Id : 61547510776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4)  (a). (b) I (c)
Options:
615475420131
61547542014 2
61547542015 =
61547542016, 4

Question Number : 30 Question Id : 61547510777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements with reference to the proposition "Some girls are not
students”

(a) Subject term students 1z distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 1z distributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only (c) and (d) are correct
Options:
15475420171
1547542018 2
61547542019 2
61547542020 4

Question Number : 30 Question Id : 61547510777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547542017. 1
61547542018, 2
61547542019, 3
61547542020, 4

Question Number : 31 Question Id : 61547510778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(b) Belief in God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (c) and (d) only

(4) (b) and (d) only

Options:

61547542021, 1
61547542022 2
61547542022 2
E1547542024 4

Question Number : 31 Question Id : 61547510778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542021, 1
E1547542022. 2
61547542022 5
61547542024, 4

Question Number : 32 Question Id : 61547510779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the two statements from the following statements are correct?

(a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn’t occur in multi-stage cluster samphng

(c) Inaccurate samphng frame and non-response are examples of sampling — related
e1Tor.

(d) There 1= an inverse relation between heterogeneity of population and sampling error.

Choose the correct option :

(1) (a) and (c) only
(2) (a) and (d) only
(3) (b) and (d) only

(4) (b) and (c) only
Options:
£1547542025. 1
61547542026, 2
61547542027 3
E1547542028. 4

Question Number : 32 Question Id : 61547510779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542025, 1
61547542026 2
E1547542027. 2
61547542028, 4

Question Number : 33 Question Id : 61547510780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following historic places with their distinguishing discipline of learming

Last I List IT
Historic places Discipline
(a) Takshila (1)  Astronomy
(b) Ujjain (1) Buddhism
() Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c)-(m1). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options:

51547542029, 1

51547542030, 2

61547542021, 3
61547542032, 4

Question Number : 33 Question Id : 61547510780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 @-@), (b)-GD), (0)-Gi), (d)-(iv)
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(3 (@-i), (b)-Gv), (¢)-(1), (d)-@
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Options:

61547542029, 1
E15475420320. 2
61547542021, 5
61547542032 4

Question Number : 34 Question Id : 61547510781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (1)
(c) Gelisols (111)
(d) Aridsols (1v)

Choose the correct option from those given below :

—

) (a)-(1v), (b)-Q), (c)-(11), (d)-(111)
2) (a)-(11), (b)-(iv), (¢)-(1), (d)-(111)
3) (a)-(@), (b)-(11), (c)-(111), (d)-(v)
(4) (a)-(1), (b)-(11), (c)-(1v), (d)-(i11)

Options:

61547542033, 1
61547542034 2
61547542035 2
61547542036 4

(

_—

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soil order consisting of soils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 61547510781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1v), (b)-(1), (e)-(11), (d)-(111)
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(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
4) (a)-(1), (b)-(i1), (¢)-(iv), (d)-(111)

Options:

61547542033, 1

61547542034 2

61547542035 =2

61547542036, 4
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Question Number : 35 Question Id : 61547510782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Match List — I with List - IT

List I
(Digital Initative)
(a) UMANG
(by BHIM
(c) eBiz
(d) SWAYAM

Choose the correct option :

(1) (a)-(i1), (b)-(1), (c)-(111), (d)-(v)
(2) (a)-(111), (b)-(11), (¢)-(iv), (d)-@)
(3) (a)-(1v), (b)-(ii), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(1v), (c)-(11), (d)-(i11)

@)
(i1)
(111)

(iv)

List II
(Purpose)
G2B Services
Learning platform
Unified payment interface

Single point of access to all

governme nt services.



Options:

61547542037, 1
61547542038 2
E1547542029 2
61547542040, 4

Question Number : 35 Question Id : 61547510782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(i1), (b)-(1), (¢)-(ii1), (d)-(1v)
(2) (a)-(iii), (b)-(ii), (¢)-(iv), (d)-G)
(3) (a)-(iv), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(1v), (e)-(11), (d)-(111)

Options:

61547542037, 1

61547542038, 2

61547542039, 3
61547542040, 4

Question Number : 36 Question Id : 61547510783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

(a)
(b)
(c)
(d)

Column I

Ontology
Epistemology
Methodolgy
Method

Choose the correct option :

(1)
(2)
(3)
4)

Options:

(2)-(11), (b)-(1v), (c)-(111), (d)-@)
(2)-(11), (b)-(1), (c)-(111), (d)-(1v)
(a)-(1v), (b)-(11), (c)-(@), (d)-(111)
(a)-(1), (b)-av), (c)-(1), (d)-(111)

61547542041, 1
E154754z2042 2
E1547542043. 3
61547542044, 4

Column II

(1) Ideographic
(11) Realism
(111) Survey

(1iv) Positivism

Question Number : 36 Question Id : 61547510783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)
(2)
(3)
(4)

Options:

(a)-(11), (b)-(1v), (c)-(1il), (d)-(1)
(a)-(11), (b)-(1), (c)-(11), (d)-(1v)
(a)-(iv), (b)-(11), (c)-(1), (d)-(ii1)
(a)-(11), (b)-(1v), (c)-(1), (d)-(1i1)

E1547542041. 1
61547542042 2
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(i)  TEEFEd
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(iii) FIeTor
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E1547542043. 3
61547542044, 4

Question Number : 37 Question Id : 61547510784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 1s beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects in receiver
Options:

61547542045 1
61547542048, 2
E154754z2047. 3
E15475420458. 4

Question Number : 37 Question Id : 61547510784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542045 1
61547542046, 2
61547542047, 3
E15475420458. 4

Question Number : 38 Question Id : 61547510785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

List I List IT
(a) Sacrifice (1 Working in a stipulated time
(b)  Sincerity (11) Confinement of individual mind on
action
(c) Self control (111) Showing love and affection
(d) Altruism (iv) Helping without selfish motives

Choose the correct option from those given below :

(1) (a)-(11), (b)-(), (¢)-(iv), (d)-(111)
(2) (a)-(1v), (b)-(1), (¢)-(i1), (d)-(111)

(3) )-(111), (b)-(1v), (c)-(1). (d)-(11)
4) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
Options:

E1547542043. 1
61547542050, 2
61547542051, 3
61547542052, 4

Question Number : 38 Question Id : 61547510785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 (2)-G1), (b)-(). (c)-(v), (d)-(ii1)
(2) (a)-(iv), (b)-(1), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(Gid), (¢)-G1), (d)-Av)

Options:

61547542049, 1
61547542050 2
61547542051, =2
E1547542052 4

Question Number : 39 Question Id : 61547510786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?

(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file

Options:

1547542052 1

G1547542054 2

61547542055 2

61547542056 4

Question Number : 39 Question Id : 61547510786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547542053, 1
61547542054 2
61547542055 2
E1547542056. 4

Question Number : 40 Question Id : 61547510787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

E1547542057.
61547542058,

E1547542059,
51547542080,

[ N S

Question Number : 40 Question Id : 61547510787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEfTRad & % 91 AGHA B ATHR T 52 ATHR & 00 & H&l T & 7 F Tal w187
(L = [P: e, \--=' ST

[ = [}

(2) e, e, ET STe]

(3 e, T, 9w, s

(4) T, e, sTe], e,

Options:

61547542057,
61547542058,
61547542059,
E1547542060,

[ N

Question Number : 41 Question Id : 61547510788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E1547542061. 1
E1547542062. 2
61547542063, 3
61547542064, 4

Question Number : 41 Question Id : 61547510788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IMI-ATIE] il M- § T5qa Fd 799 6T 68 5 g0 11 2 7
(1) O, |rfecd =hi TEie, TRTE, STFERo =1, TEE

(2)  TEcT <hi THIETT, TS, FAGENON T, TR, gt

(3)  WHEHI, Aifecd hi FHIeT, SFUWON &M=, T

(4)  THE, 9TEcd i THET, FFERON =T, T

Options:

61547542061, 1
E1547542082. 2
61547542062 o
61547542064, 4

Question Number : 42 Question Id : 61547510789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very

competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

61547542085, 1
61547542086, 2
61547542087, 3
E1547542068. 4

Question Number : 42 Question Id : 61547510789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (A =E g g (R) To@ 2 |

4 (AT B Rg (R) ®RT 2
Options:

61547542065, 1

61547542066 2

615475420687, 2

61547542068, 4

Question Number : 43 Question Id : 61547510790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one is labeled as Assertion (A) and the other 1s labeled as

Reason (R):
Assertion (A): A blog is a form of social media.
Reason (R) : A blog allows anyone to communicate to a public audience.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

(4) (A) 1s false, but (R) 1s true



Options:

61547542069, 1
61547542070, 2
E1547542071. 2
61547542072, 4

Question Number : 43 Question Id : 61547510790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= 21 99 U MU B- TEen AN dT (A) R IR ER T (R) ®

FTFIT (A) - SATT H19TST HITSAT 1 Th &9 7 |
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3T4Fd 31 HYFl o ATA H Tal [FeheT 1 799 F

()  (A) &R (R) A | § 30 (R) (A) i Ha1 =ame 2 |
(2)  (A)#E (R) 3H Hal & 3R (R) (A) =i Hal =741 T8 7 |

(3) (A HEl & Frd (R) 7o B |

(4) (A) Td & TRd (R) 9=l 2 |

Options:

61547542069, 1
61547542070 2
61547542071, 2
61547542072 4

Question Number : 44 Question Id : 61547510791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get employed, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) is true
Options:
1547542073 1
E1547542074. 2
61547542075 2
61547542076 4

Question Number : 44 Question Id : 61547510791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
19 31 Y 12U 0 B- TF W ATHFRGT (A) IR TR F T (R) T T

SRS (A) eI B o A9 H HIVE T UF GHE ATHAs E |
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(1)  (A) 3| (R) H 5@l & 31 (A) =1 =81 =& (R) 217

(2)  (A) ¥R (R) THI H&l & T, (A) =l Hel =me (R) T8 2 |

(3) (A) T8 8, 7 (R) &4 2 |

4) (A T4z, g (R)TE 2

Options:
61547542073 1

E1547542074. 2



B1547542075. 3
B1547542076. 4

Question Number : 45 Question Id : 61547510792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

15475420771

E1547542078. 2

61547542079 2

61547542080 4

Question Number : 45 Question Id : 61547510792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  (A)=El E W, (R)Tod # |

4) (AT B WG, (R) TR R
Options:
61547542077, 1
61547542078, 2
61547542079 2
E15475420280. 4

Sub-Section Number: 3
Sub-Section 1d: 615475467
Question Shuffling Allowed : Yes

Question Id : 61547510793 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation 1s one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antiglobalisation protests. The globahsation of knowledgze deserves a
particularly high profile recognition. despite all the good things that can be rghtly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both 1n journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. =ome who take an upbeat view of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 61547510794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage, which one of the following is not a well defined concept?
(1) Multiculturalism
(2) Identity
(3) Globalisation
(4) Local Knowledge

Options:

61547542051, 1
61547542082, 2
61547542082 o
61547542084, 4

Question Number : 47 Question Id : 61547510795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests
(4) Recognition of local knowledge systems

Options:



E1547542085. 1
61547542086, 2
B1547542087. 3
615475420858, 4

Question Number : 48 Question Id : 61547510796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage, globalisation i1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E1547542059 1
615475420890 2
61547542091 =
61547542032 4

Question Number : 49 Question Id : 61547510797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

615475420393, 1
61547542034, 2
61547542035, 3
E1547542036. 4

Question Number : 50 Question Id : 61547510798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1)  (a) and (b) only
(2)  (a) and (c) only
(3) () and (b) only
(4) (a), (b) and (c)

Options:

61547542097, 1
61547542098, 2
61547542099 =
61547542100 4

Question Id : 61547510793 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 61547510794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  wg-H&Fiaar (2) TEEH
(3)  ITEE (4) T IE

Options:

61547542081, 1
E1547542082. 2
61547542082 o
61547542084, 4

Question Number : 47 Question Id : 61547510795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T % AN AElAlEd d | w5 w2

(3)  dvdrmo-Tandi ugei ff = AEHa (4)  THE T Ggiedl S e
Options:

15475420585 1

1547542086, 2

61547542087 2

61547542085 4

Question Number : 48 Question Id : 61547510796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEIST % STIHR ITSR i HITSaT ST STRga! g0 | &9 | <@ Sl 87

(1)  FYEE 9 Tg =1 F9949 (2) TYHE FH TZMA * T4 BTHEHES
(3)  TTTETSASR T U Wi (4) Tava =mm F1 gy 999 F TF ghE
Options:

E1547542089. 1
61547542080, 2
615475420381, 3
61547542032, 4

Question Number : 49 Question Id : 61547510797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I i - ™ k. [ ™ 7 i 5 ™ %__
TEY § SEE A HEIEngd 5 " R W A WA B Y

(1)  Svirror =1 51 910 ST (2) v = o 9 ST
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Options:

61547542093, 1
61547542094 2
E1547542095 =2
61547542096, 4

Question Number : 50 Question Id : 61547510798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T o STIER AT v 1 72 T T TR AT Hefdigd 7 | e THTiad e ¢

(a)  JTas =R
(b)y o= =+ vamE

(c) LTI F9 TE

I feg T faeredt ¥ 9 98 I == ity

s

(1)  %aa (a) 3R (b)

%

(2)  HFA (a) AW (c)

(3) A (c) AN (b)

4  (a), (b) I (c)
Options:
1547542097, 1
1547542098, 2
215475420959 2
1547542100 4

PART II Cornparative Literature

Section Id : 615475144

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section 1d: 615475468



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 61547510799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Northrop Fryve. which genre consists of three main stages : the conflict, the
death struggle and discovery. the recognition of hero?

(1) Tragedy (2) Comedy
(3) Epic (4) Romance
Options:

61547542101, 1
E1547542102. 2
E1547542103. 3
B1547542104. 4

Question Number : 51 Question Id : 61547510799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ATHY wrE % A o faen O 9 yg@ veE 2 2 2 g0, gog-e s, are i geaE

(1) ] (2) HET= A1
(3)  HEHA (4) T
Options:

61547542101, 1
61547542102, 2
E1547542103. 3
E1547542104. 4

Question Number : 52 Question Id : 61547510800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which theorist has announced the end of all the metanarratives?

(1) Frederic Jameson (2) Linda Hutcheon
(3) Noel Carroll (4) Francois Lyotard
Options:

E1547542105. 1
E1547542106. 2
61547542107, 3
61547542108, 4

Question Number : 52 Question Id : 61547510800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o At 3 wofi war el 6 wofea <6 e 6 7

(1) Fefen S @) ferzrafrm
(3) AT Hred (4) e ferawerd
Options:

615475421051
61547542106, 2
61547542107, 3
E1547542108. 4

Question Number : 53 Question Id : 61547510801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following do Wellek and Waren in Theory of Literature dedicate a chaper to?

(1) distingushing between nature and function of hiterature
(2) discussing national. general and comparative literature
(3) distingushing between biography and psvchology 1n literature

(4) discussing Comparative Literature in India

Options:
£1547542109 1

E1547542110. 2
E1547542111. 3
B154754211%2. 4

Question Number : 53 Question Id : 61547510801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547542109 1

E1547542110. 2
E1547542111. 2
615475421172 4

Question Number : 54 Question Id : 61547510802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



When was the French term httérature comparée’ first used?

(1) 1829 (2) 1827
(3) 1835 (4) 1857
Options:

E1547542113. 1
E1547542114. 2
61547542115 3
61547542116, 4

Question Number : 54 Question Id : 61547510802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST w1eg fera e el = e v fr e

(1) 1829 (2) 1827
(3) 1835 (4) 1857
Options:

615475421121
61547542114, 2
E1547542115. 3
E1547542116. 4

Question Number : 55 Question Id : 61547510803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following traces the ‘Europeamzation’ of hterarv history, focusing 1n

particular on medieval literature in Latin?

(1) Ernest Robert Curtius (2) Georg Lukacs
(3) Benedetto Croce (4) Ferdinand Brunetiere
Options:

61547542117. 1
E1547542118. 2
B1547542119. 3
61547542120, 4

Question Number : 55 Question Id : 61547510803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547542117, 1
E1547542118. 2
E15475421143. 3
61547542120, 4

Question Number : 56 Question Id : 61547510804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s generally referred to by "Abhyudaya Kavitvam’ in Telugu?

(1) Progressive Poetry Movement (2) Radieal Short Story Movement
(3) Experimental Poetry Movement (4) Modernism and Postmodernism
Options:

615475421211
61547542122 2
61547542122 3
E1547542124. 4

Question Number : 56 Question Id : 61547510804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542121, 1
E1547542122. 2
BE1547542123. 3
61547542124, 4

Question Number : 57 Question Id : 61547510805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who among the following. in his discussion about ancient hiterary historiography of India
talked about categories like Sutra. Mantra and Shastra. Akshara, Prakmt and Sangam
hterature?

(1) Sisir Kumar Das (2) Sumti Kumar Chatterjee
(3) Ganesh Devy (4) Maurice Winternitz
Options:

615475421251
61547542126, 2
E1547542127. 3
B15475421258. 4

Question Number : 57 Question Id : 61547510805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frrferfiga A | foem s & wr=ia ifeca & gfaem orga o g3, 03 vd s, ster, a3 s aifae S
STrT 1 Feera T 27

(1) forfem FHE 214 (2) J{..ﬂ'ﬁ FHH EEE ]
(3) s = (4) wifra e
Options:

615475421251
61547542126, 2
61547542127, 3
E15475421258. 4

Question Number : 58 Question Id : 61547510806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Claudio Guillen, the study of which of these brought hiterary histormography into

prominence?

(1) Periods (2) Themes
(3) Genres (4) Reception
Options:

E1547542129. 1
E1547542120. 2
61547542121, 3
61547542132, 4

Question Number : 58 Question Id : 61547510806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) = (2) Tawa-aq
(3)  fam @) sl
Options:

615475421291
E1547542120. 2
E1547542121. 3
B1547542132. 4

Question Number : 59 Question Id : 61547510807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following Indian umiversities currently offers an M.A. 1 Comparative
Laterature?

(1) Visva-Bharati (2) West Bengal State Unmiversity
(3) Jawaharlal Nehru Unmiversity (4) Jammu Umversity
Options:

E1547542123. 1
B1547542134. 2
61547542135 3
61547542136, 4

Question Number : 59 Question Id : 61547510807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frferfiga favafaemer 4 | s favafaenes gemters e 0 vy v, i gl o 27

SR @ e e ez g
(3) AT HEE IHafid @ sy R
Options:

E1547542123. 1
61547542124, 2
61547542135 3
61547542136, 4

Question Number : 60 Question Id : 61547510808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following played an instrumental role in recording and disseminating
Goethe's views on Welthteratur?

(1) Gottfried von Strassbourg (2) Johann Peter Echermann
(3) Girish Karnad (4) John Keats
Options:

BE1547542137. 1
61547542128, 2
61547542139 3
61547542140, 4

Question Number : 60 Question Id : 61547510808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ieETE afH (2) M dret vHEH
(3) T =iz (4) <A$ey
Options:

61547542137, 1
61547542138, 2
E1547542139. 3
E1547542140. 4

Question Number : 61 Question Id : 61547510809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who 1s the writer of the book Against World Literature : On the Polities of Untranslatibility?

(1) David Damrosch (2) Susan Bassnet
(3 Emily Apter (4) Harish Trived:
Options:

615475421411
61547542142 2
E1547542143. 3
E1547542144. 4

Question Number : 61 Question Id : 61547510809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =fae Swm (2) HHH G2
(3)  uHel U @) = A
Options:

61547542141, 1
E1547542142. 2
E1547542143. 3
B1547542144. 4

Question Number : 62 Question Id : 61547510810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following does Buddhadeva Bose say in his essay, “Comparative Literature 1n
India™?

(1) One should not read literature in translation
(2) Translated works have no place in comparative literature
(3) Translators are more visible than they should be

(4) The philologist would read exclusively in the original while the humanist would read
1n translation

Options:

51547542145, 1
E1547542146 2
61547542147, 5
61547542148 4

Question Number : 62 Question Id : 61547510810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qaeed d19 4 3199 Faey ‘Fifea fora st gfe’ 0 g O 3 s 27

(2)  sfed o 1 qerHreRs diiecd | 8 #4H 39 2|

(3) TG | AETHFAl H e v faan s 2

(@) U AT a geny e & SEis gHaandl siHfEd 1 v 2
Options:
£1547542145. 1
£1547542146. 2

61547542147, 3
615475421458, 4



Question Number : 63 Question Id : 61547510811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following analysed the Russian folktales?

(1) Vladimir Propp (2) Rolland Barthes
(3) Julien Greimass (4) Roman Jakobson
Options:

515475421491
61547542150, 2
61547542151, 3
61547542152 4

Question Number : 63 Question Id : 61547510811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e Tz 3 =il eirenen i 1 fawetw foan 27

(1)  seTrEmi gy (2) Tl =l
(3)  Sffcrai I (4) T AT
Options:

6154754214591
61547542150, 2
61547542151, 3
E1547542152. 4

Question Number : 64 Question Id : 61547510812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which non-European literatures appear to have influenced Goethe when he conceptualized
the 1dea of ‘Welthteratur'?

(1) Jahili Arabic literatures (2) Latin American hiteratures
(3 African literatures (4) Indian and Chinese literatures
Options:

61547542152 1
E1547542154. 2
E1547542155. 3
61547542156, 4

Question Number : 64 Question Id : 61547510812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  Sifee 35w @iz (2) wifaa s drfee
(3) iR AIleAE (4) T vd = wifEe
Options:

E1547542153. 1
61547542154, 2
61547542155 3
61547542156, 4

Question Number : 65 Question Id : 61547510813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has recently translated the Ramavana of Bhanu Bhakta into
Enghsh?

(1) Samar Sinha (2) Shradhanjali Tamang
(3) Gokul Sinha (4) Kaliprasanna Sinha
Options:

E1547542157. 1
E1547542158. 2
51547542159, 3
61547542160, 4

Question Number : 65 Question Id : 61547510813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

efel &1 8 Fyeferfiaa 0 3 farea wrgged 1 ol =1 30 4 sigfeq frn 27
(1) o o (2) Fgiafa aaim
(3) i fowm (4)  FrieraE= fame

Options:

615475421571
61547542158, 2
61547542159, 5
61547542160 4

Question Number : 66 Question Id : 61547510814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which French philosopher has coined the term, ‘untranslatables™

(1) Barbara Cassin (2) Jacques Derrida
(3) Helene Cixous (4) Abdennour Bidar
Options:

61547542161, 1
61547542162 2
E1547542163. 3
E1547542164. 4

Question Number : 66 Question Id : 61547510814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

il Zreii=enl 4 | fred sHemeaed (“untranslatables™) 92 &1 @127

(1) AT A (2)  Fe 2fre
(3) el ey (4) wEEAR e
Options:

61547542161, 1
61547542162, 2
E1547542163. 3
E1547542164. 4

Question Number : 67 Question Id : 61547510815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following 1s aszociated with the principle of polyglottism?

(1) Johann Gottheb Fichte (2) Heinrich Heine
(3) Hugo Meltzl (4) Friedrich Schleiermacher
Options:

615475421651
E1547542166. 2
BE1547542167. 3
61547542168, 4

Question Number : 67 Question Id : 61547510815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

{4 1 # o8 s unfiadn (Polyglottism) # Hrafgd = ST 27

1)  Sied el few (2) ef
(3) =T Herdd (4) it v
Options:

615475421651



E1547542166. 2
61547542167, 3
61547542168, 4

Question Number : 68 Question Id : 61547510816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Whose manuseript was first found in Arabic and was then translated into European
languages?

(1) Sophocles (2) Aristotle
(3) Sappho (4) Longinus
Options:

615475421691
61547542170, 2
E1547542171. 3
B1547542172. 4

Question Number : 68 Question Id : 61547510816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr=ferfiaa 4 3 fereh w=e1 = wigfat veet swah a8 fuel SR TR 3 sram gaia ams 4 gu?

(1)  HreE (2) 3E
(3)  HF (4) eisnzaa
Options:

E154754216%9. 1
E1547542170. 2
B1547542171. 3
B154754217%. 4

Question Number : 69 Question Id : 61547510817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following 1s the German translator of The Thousand and One Nights?

(1) Jean Antoine Galland (2) Gustav Weil
(3) Edward Lane (4) J.C. Mardrus
Options:

615475421721
61547542174, 2
E1547542175 3
E1547542176. 4

Question Number : 69 Question Id : 61547510817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(1) =41 Sl e (2) TEAE Arge
(3) UEdEoH 5 Sy
Options:

615475421731
61547542174 2
61547542175 3
61547542176, 4

Question Number : 70 Question Id : 61547510818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Armstotle. Tragedy 1s a more evolved form than Epic because

(1) It 1z less vulgar (2) Itis an older form
(3) It has more unity (4) It 1s more subhime
Options:

B1547542177. 1
61547542178, 2
615475421749, 3
61547542180, 4

Question Number : 70 Question Id : 61547510818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O o HJHH THE | Wk il stuen #91 st fawfad aifee g 27

D) EFA A (2) =R U A w2
(3)  zaH A v R (4) o= FH I 2
Options:

BE1547542177. 1
61547542178, 2
61547542175, 3
61547542180, 4

Question Number : 71 Question Id : 61547510819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Sattvika bhava in Rasa theory 1s

(1) A variant physical response (2) A variant emotional response

(3) An invariant physical response (4) An invariant emotional response



Options:

61547542181, 1
61547542182 2
E1547542182 2
615475421584, 4

Question Number : 71 Question Id : 61547510819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 fazyra 1 uifeas ag’ -

(1) ve afead i afafen 2 (2) s g ararens: ufafwa 2
(3) U sfEd difae afafFmm 2 (4) v FufEd] vy sfafFma 2
Options:

615475421581, 1
E1547542182. 2
E1547542183. 3
61547542184, 4

Question Number : 72 Question Id : 61547510820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are the three divisions of Gadyva Kavya according to
Sahitvadarpana? ?

(1)  Vrtteandhi. Akhyayika. Gathas
(2) Utkalikapraya. Anibadha, Crna
(3) Curna. Vrttgandhi.Utkalikapraya

(4) Anibadha. Curna, Vrttgandh

Options:

51547542185, 1
61547542186 2
61547542187, 2
61547542188 4

Question Number : 72 Question Id : 61547510820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) I, ST, men
(2)  FewlcamTE, sAiEgE, ol
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Options:

61547542185, 1
61547542186 2
E1547542187. 2
61547542188, 4

Question Number : 73 Question Id : 61547510821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following correctly enumerates the five major kinds of love in Tamil

‘Akam Thinai poetry?

(1) Kaiklkilail, Vakail, Tumpai, Palai, Marutam
(2) Marutam. Nevtal. Mullai. Kurinel, Palai
(3) Neytal. Vakai, Mullai, Tumpai, Kurinel

(4) Vanci. Kaikkilai, Mullai. Ulinai, Palai

Options:
£1547542159. 1

E15475421380. 2
E15475421391. 3
B1547542192. 4

Question Number : 73 Question Id : 61547510821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
atftret <t s forrd” s feren 1 e e kw3 Gu o) o Frerferfisa § & frad g4 2 7
(1)  EFhies, arTs, qrang, e, Heay
(2)  HEeH, 9329, ged, Fh=A, ur
(3)  3ad, AT, Heel, qrang, FH-

(4) =TS, HEFEREE, god, i, o

Options:



E1547542189. 1
615475421380, 2
615475421391, 3
61547542132 4

Question Number : 74 Question Id : 61547510822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s a correct statement about Tamil Puram Poetry?
(1) Puram poetry deals with internal Iife of the individuals

(2) Puram poetry deals with Iife in the cities

(3) Puram poetry deals with all aspects of the societal life

(4) Puram poetry deals with external mamfestations of love

Options:

61547542193, 1
61547542194 2
61547542195 =
61547542196 4

Question Number : 74 Question Id : 61547510822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A qem %152 & fava 4 Fi0 94 909 27

(1) 97 =3 9sg1 o ST siiaq | gafd 2
(2) I T v e | w56l 2)

(3) T TS IR Siad o dfi e 1 galie 2

(4) g = Uy 6 e sifvsatEa O wetia 2)

Options:

61547542193, 1
61547542194 2
61547542195, 5
61547542196 4

Question Number : 75 Question Id : 61547510823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Socrates says 1n Apology : “It 1s hardly an exaggeration to say that any of the bystanders
could have explained those poems better than their actual authors™.

Which one of the following implications of this statement 1s correct?

(1) Bystanders are very good critics

(2) Authors are unintelligent beings

(3) Poets have higher knowledge

(4) Looking for author's intended meaning 1s a futile exercise
Options:

6154754215971
615475421398, 2
61547542199, 3
E1547542200. 4

Question Number : 75 Question Id : 61547510823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AFAT STt § i T, a e A sifaerifa 2 2l g s i sen w9 w8 aEw
FIS = TS Al H A 2|
T | 1 1A 1 e G o 3 dE o 19T W 1 27
(1)  Hee T Ee g9l 98 37w A= & 2
(2)  wEE A EA 2
(3) il o urd I A A 2
(4)  orEs ¥ efesd s i wre e e v 2
Options:
61547542197, 1
615475421495 2

E1547542139%8. 3
B1547542200. 4

Question Number : 76 Question Id : 61547510824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who adapted Ramayana into Tamil?

(1) Pevalvar (2) Selalar
(3) Sundarar (4) Kamban
Options:

E1547542201. 1
B1547542202. 2
61547542203, 3
61547542204, 4

Question Number : 76 Question Id : 61547510824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ateHiie 1Tl = dfe 4wt fhad fa?

(1)  EER (2) HfFen
(3) YW (4) a4
Options:

E1547542201. 1
B1547542202. 2
61547542203, 3
61547542204, 4

Question Number : 77 Question Id : 61547510825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

By whom was the Praknt Gatha Sattsai composed?

(1) Hala (2) Gunadhya
(3) Somadev (4) Pampa
Options:

61547542205, 1
61547542208, 2
E1547542207. 3
E1547542208. 4

Question Number : 77 Question Id : 61547510825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

30 H I WFd FF M HAAS o T8 7

(1) G (2) el
(3) =MW (4) Uy
Options:

E1547542205. 1
E1547542206. 2
61547542207, 3
61547542208, 4

Question Number : 78 Question Id : 61547510826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the theme of Amir Khusro's poems 1in Wasf-nigart?

(1) Human love (2) Love for God
(3) Love of nature (4) Love of man-made objects
Options:

61547542209, 1
E1547542210. 2
E1547542211. 3



B1547542212. 4

Question Number : 78 Question Id : 61547510826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feyferfiaa foamei 4§ & oia & s e i wfam aas - w0 avd faw 27

(1)  HHEEE YA (2) $9a % Wid UM
(3)  Weld-um (4) Wra Fhfa veri | Uy
Options:

E1547542209. 1
61547542210, 2
61547542211, 3
61547542212 4

Question Number : 79 Question Id : 61547510827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the poet with the language :

Last I Last IT
(Poet) (Language)
(a) Pampa (1) Marathi
(b) Gangadhar () Telugu
(c) Nannaya (m) Kannada
(d) Tukaram (1v) Odia

Chose the correct option :

(1) (a)-(11), (b)-(1). (¢)-(1i1). (d)-(1v)
(2) (a)-(111). (b)-(1v), (c)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(4) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)

Options:

61547542213, 1
61547542214 2
61547542215 =2
E1547542216. 4

Question Number : 79 Question Id : 61547510827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e =1 9191 4 Yoo e

-1 H1-11

i HTH]
(a) W i) WE
(b) TRIER (i) e
(c) =~ (i) FHE
(d) TR (iv) sifea

(1)  (a)-(). (b)-(1). (e)-(111), (d)-(v)
(2)  (a)-i). (b)-(iv). (c)-({11). (d)-(1)
(3)  (a)-(v). (b)-(i1), (e)-(iid). (d)-(1)
(4 (2)-(). (b)-(11). (e)-(111), (d)-(v)

Options:

61547542213, 1
61547542214 2
61547542215 2
61547542216, 4

Question Number : 80 Question Id : 61547510828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who praised Rajaraja Varma through his elegy “Prarodanam” in Malayalam Literature?

(1) Vailkam Muhammad Basheer (2) Kumaran Asan
(3) Thakazi Shiv Shankar Pilla: (4) Vallathol
Options:

61547542217, 1
61547542218, 2
E15475422149. 3
B1547542220. 4

Question Number : 80 Question Id : 61547510828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ueraTerd difeed | siisa wiean’ % Ai fEaa wes gl §i e 127

(1)  drEey gams 99 (2) YA A
(3) Al v e (4) doerdid
Options:

E1547542217. 1



E1547542218. 2
61547542215, 3
61547542220, 4

Question Number : 81 Question Id : 61547510829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the genres with the languages 1n which they are popular :

Last I Last IT
(Genre) (Language)
(a) Tamang Selo (1) Telugu
(b) Ghazal (1) Urdu
() Kam (1) Nepah
(dy Burrakatha (1v) Awadh

Choose the correct option :

()  (a)-v). (b)-(1). (c)-(). (d)-(ii1)
(2)  (2)-Q). (b)-(i), (c)-(v), (d)-(11)
(3)  (a-u). (b)-(11). (e)-Gv). (d)-(1)
(4) (a)-(1). (b)-(11). (¢)-(1). (d)-(1v)

Options:

61547542221, 1
E1547542222 2
61547542222, 5
61547542224 4

Question Number : 81 Question Id : 61547510829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T faren =i =01 39 s o we gfera i e 9w 2)

g1 q=1-11
(@) i fire @
(b) e i) ¥
(¢) ] (iii) oref
(d) afewen (iv) HaH

&2 : freaferfaa d 4w fases & =aa #i -

D (@-av). (b)-). (0)-@). (d)-(1i1)
@) (@)-). (b)-G). (c)-Gv). (d)-11)
(3 (a)-). (b)-1). (0)-Gv). (d)-()
@ (-, (b)-u), (©-1). (d)-(v)

Options:

61547542221, 1
E1547542222 2
61547542222 5
61547542224 4

Question Number : 82 Question Id : 61547510830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s the name of the Persian translation of the Mahabharata?

(1) Bazmnama (2) Ab-e-Havat
(3) Razmnama (4) Ghurrat ul Kamal
Options:

61547542225 1
E1547542226. 2
B1547542227. 3
E1547542228. 4

Question Number : 82 Question Id : 61547510830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[-1

fryferfiga o 9 wema =1 wel sSgEE A 27

(1) == (2) HE-U-24Md
3 = @ =i 36 Far
Options:

BE1547542225. 1
B1547542226. 2
B1547542227. 3
61547542228, 4

Question Number : 83 Question Id : 61547510831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

On the life of which Alvar poet did Krishnadevaraya write an epic?

(1) Andal (2) Molla
(3) Mahadeviakka (4) EKaraikkalamma
Options:

61547542229 1
E1547542230. 2
E1547542231. 3
B1547542232. 4

Question Number : 83 Question Id : 61547510831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FWEATA] 4 Fohd HAGR Ffd & Sfia 7 FHfadn fore 27

(1) A= (2) Hieell
(3)  HeErEEEER (4)  FHEHE]
Options:

E1547542229. 1
E1547542230. 2
61547542231, 3
61547542232, 4

Question Number : 84 Question Id : 61547510832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which can be a useful term from the following options through which one can analyse Yury
Tynyvanov's idea of “Literary Fact'?

(1) Analogy (2) Centre-Periphery
(3) Influence (4) Translation
Options:

61547542233 1
61547542234, 2
E1547542235. 3
E1547542236. 4

Question Number : 84 Question Id : 61547510832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frerferfiam o 4 @ @ wres gfl fafarE = arfefas e’ % faam & faveiam & foo 3wgefl 21w 27

(1) =g (2) Hz-ufiia
(3) PEIE! (4) H41
Options:

BE1547542233. 1
61547542234, 2
61547542235 3
61547542236, 4

Question Number : 85 Question Id : 61547510833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among these are depicted by the ancient Sperlonga sculptures?

(1) Episodes from The Odyssey (2) Episodes from Oedipus the King
(3) Episodes from The Bacchus (4) Episodes from The Clouds
Options:

E1547542237. 1
E1547542238. 2
61547542239, 3
61547542240, 4

Question Number : 85 Question Id : 61547510833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



faaferfiaa 1 | =g wein swer= grn R Fafsa o mn 27

(1) 2 At % e = @  <hevd 2 R % swwai 9
(3) & AIFHH & ITFHAA F (4) 3 FeN3ZH % IR Fl
Options:

61547542237, 1
E1547542238. 2
E1547542239. 3
61547542240, 4

Question Number : 86 Question Id : 61547510834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following poets has written a poem on Parmigianino’s “Self-Portrait in a
Convex Mirror™?

(1) Wallace Stevens (2) John Ashberry
(3) W.H. Auden (4) Charles Simic
Options:

E1547542241. 1
B1547542242 2
B1547542243. 3
61547542244, 4

Question Number : 86 Question Id : 61547510834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fenaferfiaa W& foha =6fa 9 oA S a1 39 v e fow | woestan ford 27

(1) e e @) i T
(3) EC R B S (4) =ed T
Options:

615475422411
61547542242 2
E1547542243. 3
E1547542244. 4

Question Number : 87 Question Id : 61547510835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s common to Jerusalem. Burma Chronicles and Pyonvang: A Journey in North Korea?

(1) They are all books by journalist Harsh Seymour

(2) They are all movies made by Richard Attenborough
(3) They are all graphic novels by Guy Delisle

(4) They are all travelogues written by Anita Nair

Options:
61547542245

E1547542246,
BE1547542247.
61547542248,

[ N

Question Number : 87 Question Id : 61547510835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SEAA, S Hiiaded a9 = v g1 e sifen o am w27

() Baft ed e g forefl 1w geesh 2
(2) Ay frag speE g i fee 2
(3) 4 udi s fereet g fora femrens: 302 2)

(@) 3 wedi sAfaen e g ford e gama 2

Options:

61547542245, 1
61547542246 2
61547542247 2
61547542248 4

Question Number : 88 Question Id : 61547510836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which statement among the following suits the text The Forest of a Thousand Demons?
(1) An Adaptation of West African folk forms to the novel

(2) An Assimilation of West African drama to tragedy

(3) A journey of West African literature to Caribbean

(4) A cross betwen African and Indian literatures

Options:
£1547545249 1
61547542250 2

E1547542251. 3



B1547542252. 4

Question Number : 88 Question Id : 61547510836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 W2 A6 U AT3sie 20 & o H fefefiad 4 8 -1 fea 39ga 27

(1) 9= afgadi o difeca-faansii 1 30 4 5= 2

(2 g2 ufvad) s A 5 aEd § qaEyE 2

(3)  w=ufvadi snfef wifEen 9 Fifeend e @ 6 g 2
(4) =z srhreh dur aredig wifee @ fug 2y

Options:

61547542249, 1
E1547542250 2
61547542251, 5
61547542252 4

Question Number : 89 Question Id : 61547510837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who made the argument that successful assimilation of a genre from one culture to another

1s closely linked to the hospitalhity shown by the recipient culture?

(1) Noam Chomsky (2) Mikhail Bakhtin
(3) Dionyz Dursin (4) Hayden White
Options:

E1547542253. 1
E1547542254. 2
61547542255, 3
61547542256, 4

Question Number : 89 Question Id : 61547510837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) A (2) o e
(3) fzars =gitiaq (4) FEAEE:
Options:

E1547542253. 1
E1547542254. 2
61547542255, 3
61547542256, 4

Question Number : 90 Question Id : 61547510838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the writers with the works they have adapted :

List I List IT

(Writers) (Works)
(a) Zahida Heena (1) Rabindranath Tagore’s “Kabuliwala”
(b) Edward Bond (1) Moliere’s L'amour Medecin
(c) Girishchandra Gosh () Wilham Shakespeare's The Tempest
(d) Aimeé Cesaire (1v) Wilham Shakespeare's King Lear

Choose the correct option from those given below :

(1) (a)-(11). (b)-(1). (c)-(11). (d)-(1v)
(2) (a)-(u), (b)-Gv). (c)-(1). (d)-(1)
(3) (a)-(1). (b)-(xv). (c)-(11), (d)-(111)
(4) (a)-(). (b)-(1). (e)-(113). (d)-(1v)

Options:

61547542257, 1
61547542258, 2
61547542259 5
61547542260 4

Question Number : 90 Question Id : 61547510838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



] %1 ATH 3ok gR1 FTid T | HEferd it ;-

Fl-1 o111
LT =
(a) SRR EH ) Ty o A wrgetaen”
(b) UzHE AvE (i) wifera 1 e dfsde’
(c) TrTer=r==m (i) faferay serdmr s’
(d) UHHEN (iv) Taferan sead o foad
=1 4 @ = fasea g

(1) (2)-(1. B)-(). (¢)-Gib). (d)-Gv)
(2)  (a)-(m), (b)-(iv). (e)-(11). (d)-(1)
(3 (a)-). (b)-Gv). (e)-1). (d)-(u)
4)  (a2)-(). (b)-(). (c)-(1). (d)-(v)

Options:

61547542257, 1
61547542258 2
61547542259 =2
E15475422E80. 4

Question Number : 91 Question Id : 61547510839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the focus of Sisir Kumar Das’ essay. “Muses 1n Isolation™?

(a) He calls for a ban on the study of English hiterature in India as 1t 1s a foreign
literature

(b) He asks for the rationale of English Literature studies in India

(c) He argues that it would be 1diocy. not to strengthen the teaching of the English
language 1n India

(d) He calls for a ban on studying literature in translation

Choose the correct pair :

(1)  (a)and (b) (2) (b) and (c)
(3)  (c)and (d) (4) (d) and (a)
Options:

61547542261, 1
61547542262, 2
61547542263, 3
E1547542264. 4



Question Number : 91 Question Id : 61547510839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
UH 2/ 4 319 Feg wEe = aEgeeE |
(a)  9re d 370 gifes i vers T uidsaenH 1 SeF 2 w1t T fagel arfee 2)
(b)  wwd H s e i vers 1 s @)
(c) &% eh Udl Tkl & ToF e | SFUsh T 1 8 Wl S gEd 201 |
(d)  ifea 4 wfee i vers w2 yiday = smgE o )

gel faseq &1 =44 il ;

(1)  (a) 3R (b) (2)  (b) 3 (¢)
(3) (o) FW (d) @) (d) 3 (a)
Options:

E1547542261. 1
B1547542262. 2
B1547542263. 3
B1547542264. 4

Question Number : 92 Question Id : 61547510840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following are true according to Sisir Kumar Das [Comparative Literature
in India : A Historical Perspective]?

(a) Scholars of Sanskrit literature studied Sanskrit in relation to Prakrit

(b) Scholars of ancient Sanskrt studied Sanskrit in relation to Tamail

(c) Scholars of ancient Tamil Literature did not study Tamil in relation to Sanskrt
(d) No Sanskrit play had any trace of Prakrit in 1t

Choose the correct pair :

(1) (a) and (b) (2) (a) and (c)
(3) (b) and (c) (4) (b) and (d)
Options:

E1547542265. 1
E1547542266. 2
B1547542267. 3
61547542268, 4

Question Number : 92 Question Id : 61547510840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)

o

weapd wifaea % fagi 3 urerd = ded 4 Heepd =1 seraA faan)

(b) W HEFd F fagHl A afhe & wad  5ekd &1 e R
(c) = Afel \ifeed & fagEi A q"_ﬂfﬁ & Hed-1 afgs &1 s1egaq 98
(d) el ol Heard Ares d grRd 1 AT o A6 2
He [a%eq 1 =94 Fifau ;
(1) (a) 3 (b) @) (a) 3 (c)
@  ®E @ )3 @
Options:
61547542265, 1
61547542266, 2
61547542267, 3
1547542268, 4

Question Number : 93 Question Id : 61547510841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which two of the following were suggested by Sisir Kumar Das?

(a)

(b)

(c)

(d)

The success of comparative literature in India cannot be understood 1n arithmetical

terms

Comparative literature has failed in India because not too many departments of

comparative literature have been set up in Indian universities

The success of Comparative Literature in India lies 1n the way 1t has imposed single

literature pedagogy

Comparative Literature in India should only study the texts in their original

languages of composition

Choose the correct option :

(1)
(3)

Options:

(a) and (b) (2) (a)and (c)

(b) and (d) (4) (c) and (d)

E154754226%9. 1
B1547542270. 2
B1547542271. 3
B154754227%. 4

Question Number : 93 Question Id : 61547510841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(a) WA H qelTene: ATzed o1 Aherd] & T0rdiE sirFe] 4 T8 ausn s e 2|

(b)  Wd U qerTers: Hifeed whel 98 8 U § #if awd o favataererdi 4 sifee fawm a4 wenfia w2
|

(¢)  wRd H derHreds: Aifze i aketdl v aifzea e agfd 1 i e o o 21

(d)  9RA § oo Jiied H hdel 921 6l gel 9191 1 TS % 013 o e R S =i

el fasheq o1 =34 Fifee ;

1) (@) 3 () (2 (a) 3N (o)

3 (o) 3 () 4 (o) %W (@)
Options:

61547542265, 1
B1547542270. 2
61547542271, 3
61547542272, 4

Question Number : 94 Question Id : 61547510842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which two of the following are parts of an extrinsic approach to the study of hiterature?
(a) literature and rhythm

(b) hiterature and biography

(c) literature and psychology

(d) literature and style

Choose the correct option :

(1)  (a)and (b) (2)  (b) and ()

(3) (c) and (d) (4) (a)and (d)



Options:

61547542273 1
61547542274 2
E1547542275 2
61547542276, 4

Question Number : 94 Question Id : 61547510842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
freferfiaa 4 € -8 1 @e wifzc & serad % afd qd g 2 7
(a)  Hifzed s o™
(b)  Hifeed SR SiaH
(¢  wifeed HR gAifaemM

(d)  ifeey 37w Stef]

aal faweg =1 931 fifso

(1)  (a) 31 (b) (2) (b) 3 (¢)
(3)  (c) 3 (d) @ (a) 3R @)
Options:

B1547542273. 1
B1547542274. 2
61547542275 3
E1547542276. 4

Question Number : 95 Question Id : 61547510843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which two features are picked out by Rene Wellek in his attack on the French School of

Comparative Literature in his paper, “The Crisis of Comparative Literature™?
(a) factualism

(h) mterdisciplinary research

{c) historical relativism

(d) analogy

The correct option 1s :

(1) (a) and (b) (2) (a)and (c)
(3) (c) and (d) (4) (a)and (d)
Options:

B1547542277. 1
B1547542278. 2
61547542279, 3
61547542280, 4

Question Number : 95 Question Id : 61547510843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A defen 4 #0E o g Fwf siE sl fader” 4 qerress wifees i wiEE faemar 1 s
(a)  deaTedsdl (hagufasy)

(b) = sy (seerfedietd fra=)

(c)  Ufemtiass amieqan (feweifisret fretfeasm)

(d)  deaEd (uATers)

7 fasey 1 =34 Hifsr ;

1) (a) 30 (D) 2 (a) 3N (o)
3 (03 () 4 (a) 3 (d)
Options:

61547542277, 1
61547542278, 2
E1547542278. 3
E1547542280. 4

Question Number : 96 Question Id : 61547510844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which two literary theories are crucial to Jauss' 1dea of literary history?

(a) Structuralism

(b) Formalism

(c) Marxism

(d) Post-structuralism

Choose the correct pair :

(1) (a) and (d) (2) (b) and (c)
(3) (a) and (c) (4) (b) and (d)
Options:

61547542281, 1
61547542282, 2
E1547542283. 3
B1547542284. 4

Question Number : 96 Question Id : 61547510844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) TR
b) EwER
(c)  wHEHare

(d)  IH-HIHAETR

A e 1 =954 e ;

(1)  (a) 37 (d) @) (b) 31 (¢)

3)  (a) 3 (c) @ (b) 3V ()
Options:

61547542251, 1
E1547542282. 2
E1547542283. 3
61547542284, 4

Question Number : 97 Question Id : 61547510845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which features from the following are associated with the i1dea of “structure of feeling”.

proposed by Ravmond Williams?

(a) affective elements of conseciousness and relationships
(b) moods and atmospheres as historical and social phenomenon
(c) feelings as the consequence of structures

(d) varieties of feeling triggered by different institutions

Choose the correct option :

(1)  (a) and (b) (2) (c) and (d)
(3) (b) and (c) (4) (a)and (d)
Options:

61547542285, 1
E1547542286. 2
B1547542287. 3
B1547542288. 4

Question Number : 97 Question Id : 61547510845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) a1 30 T = graead T
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1) (a) 37 (b) (2) (c) N (d)

(3 (b) 3 (o) @ () 3 (@
Options:

61547542285, 1
61547542286, 2
61547542287, 3
E1547542288. 4

Question Number : 98 Question Id : 61547510846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of these concepts does Robert Antonie use 1n his essay “From Amstotle to Roland

Barthes™

(a) indicator
(b) informant
(c) catalyst

(d) curator

Choose the most appropriate option :

(1) (a) only (2) (d) only
(3) (a). (b) and (c) (4) (a) and (d)
Options:

B1547542289. 1
61547542230, 2
61547542231, 3
E154754223%2. 4

Question Number : 98 Question Id : 61547510846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  Hehdd (FHfhe)

P

(b)  HIAREE (FHEHZ)

I

¢  Feute (Faferz)

»

(@ T

\el e &1 994 it ;

(1) % (a) (2) Fad (@)

(3) (o) 3 (a). (b) @) (a) 3T (d)
Options:

B1547542289. 1
61547542230, 2
61547542231, 3
61547542232, 4

Question Number : 99 Question Id : 61547510847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following are elements through which mediated internal contacts take

place?

(a) Hospitahity

(b) Interartistic adaptation

(c) Translation

(d) Imitation

Choose the correct pair:

(1)  (a) and (d) (2) (a)and (b)
(3) (a) and (c) (4) (b) and (c)
Options:

61547542293, 1
61547542234, 2
E1547542235. 3
E15475422396. 4

Question Number : 99 Question Id : 61547510847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)  sfasen (Eifordfad)

(b)  SAAREReATeH et

(c) AR

(@ s

7 fashed &1 =4 i ;

() (@) 3 (@) (2) (a) 31 (b)

3  (a) W (c) @) (b) 3% (c)
Options:

E15475422593. 1
E1547542294. 2
615475422385 3
61547542236, 4

Question Number : 100 Question 1d : 61547510848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Why does Buddhadeva Bose argue that “The vervy existence of the Bengali language 1is
serenely 1gnored”, 1n his essay “Tagore in Translation” while writing about The Collected

Poems and Plays of Rabindranath Tagore (1936)?
(a) the book does not mention that the poems and playvs were originally written in Bengah
(b) the book does not mention that most of the translations are done by Tagore himself

(c) the book does not carry more than a handful of translations of texts originally written

1in Bengali

(d) the book says Bengali 1s a new language with a two-decade history

Choose the correct option :

(1) (a) and (b) (2) (b)and (c)
(3) (c) and (d) (4) (a) and (d)
Options:

E1547542297. 1
E15475422398. 2
61547542299, 3
61547542200, 4

Question Number : 100 Question 1d : 61547510848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (@) 3 D) 2 (b) 3 (o)

(3)  (c) 3R (d) (4) (a) 3N (d)
Options:

B1547542297. 1
61547542258, 2
61547542255, 3
61547542300, 4

Question Number : 101 Question Id : 61547510849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who, among the following, are 19™ century translators of Goethe’s Faust?
(a) Theodore Martin

(b) Bayard Taylor

(c) Philip Wayne

(d) CF Macintyre

Choose the correct pair:

(1)  (a) and (b) (2) (b) and (c)
(3) (c) and (d) (4) (d) and (a)
Options:

61547542301, 1
61547542302, 2
E1547542203. 3
51547542204, 4

Question Number : 101 Question Id : 61547510849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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@ (@@ @ (@ 3 ()
Options:

61547542201, 1
61547542302, 2
61547542303, 3
E1547542204. 4

Question Number : 102 Question Id : 61547510850 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From among the given options which two describe Rajasekhara’s "‘Kavyapurusha™
(a) Prakrits as its arms

(b) Apabhramsas as its chest

(c) Shruti as 1ts substance

(d) Anuprasa etc as 1ts decorations

Choose the correct pair:

(1) (a) and (c) (2) (a)and (b)
(3) (c) and (d) (4) (a) and (d)
Options:

E1547542205. 1
61547542206, 2
61547542207, 3
61547542208, 4

Question Number : 102 Question 1d : 61547510850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TSTIREE o SFIeATEY o Halel H FH ¥ 9 9 27
(@) WA 3HF AT 2

(b) gy Efl Bl 2

(©)  Hfd gwehl fore = 21

(d) I AT ThF AR 2 |

wEl faeeq #1 = Fifu ;

(1)  (a) 3R (o) (2) (a) #H (b)

(3) (0 3 () 4) (a) 3N (@)
Options:

615475423051
61547542308, 2
E1547542207. 3
E1547542208. 4

Question Number : 103 Question Id : 61547510851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are true about Arvashura’s Jatakamala?
(a) Its other name 1s Bodhisattvavadanamala

(b) It 1s composed in Sanskrit and Praknt

(c) It 15 composed 1n mixed prose and verse 1n Sanskrit

(d) It 12 series of narratives dealing with the events in the life of Mahatma Buddha

Choose the correct option :

(1) (a) and (b) (2) (a)and (c)
(3) (a) and (d) (4) (c)and (d)
Options:

61547542205, 1
61547542210, 2
61547542311, 3
61547542312 4

Question Number : 103 Question Id : 61547510851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freferfian 5 @ smatgn i srdsren e 13 @ e g8 27

(a)  FE1 GHIT ATH ST 2

(b)  de HEaFd {1 AT 3 HEEd ° 1= 2|
(¢) T2 HEFHd Tga-1ga i fafya v 2|

(d) ¥ HeTH 39 F SHia dalled F91 g Fl gEen 2|

wEl faseq o1 =74 ifee ;

1) () 3 (b) 2 (a) 3N (o)

3  (a) 3 (@ @ (0N (@
Options:

61547542309, 1
61547542310, 2
E1547542211. 3
B1547542231%2. 4

Question Number : 104 Question Id : 61547510852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which two texts in the following list are examples of travelogues 1n Malayalam?
(a) Ghummad Shastra

(b) Bilatht Visesam

{c) Jnana Kanda Europe

(d) Pascima Pathika

The correct option 1s :

(1)  (a)and (d) (2) (b)and (d)
(3)  (b) and (c) (4) (a)and (c)
Options:

615475423121
61547542314, 2
E1547542215. 3
BE1547542216. 4

Question Number : 104 Question Id : 61547510852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fe=rfetfiaa =i 1 4 == i 21 733 YEas] gerdred U A o 35 8 7

(a) HHE I
() =] favr
(c) M IS I

(d)  Ofom vl

el faemey =1 == Fife

1) (a) 3@ 2 (3@

3 (o) 3 (o) @) (a) 3R (@)
Options:

61547542312 1
E1547542214. 2
E1547542215. 3
61547542316, 4

Question Number : 105 Question Id : 61547510853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which two texts among the following touch upon the dangerous effects of too much reading?
(a) The Old Man and the Sea

(b) Don Guixote

(c) Tristram Sandy

(d) Pedro Paramo

Choose the correct pair :

(1)  (a) and (d) (2) (b)and (c)
(3) (c) and (d) (4) (b) and (d)
Options:

E1547542217. 1
61547542218, 2
61547542215, 3
61547542320, 4

Question Number : 105 Question 1d : 61547510853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Treferiiaa 9 9 vel &6 i 21 gedeh 2 o steafaes s1eqaa o @evaren g 93 g el T 2

(a) ©3HAlcs i weed

(b) =i fFraE
() Frendd

(d  Hsiom

[ fameq #1949 Fifso

(1)  (a) 3 (d) (2)  (b) 3 (c)

(3)  (c) 3W (d) @) (b) 3% (d)

Options:
£1547542517.

E1547542218.
E1547542219.
B1547542320.

[ R

Question Number : 106 Question Id : 61547510854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which two of the following constitute the point of intersection for “Topos’ 1n thematological

study?
(a) Stoff
(b) Plot

(c) Tradition

(d) Convention

Choose the correct option :

(1) (a) and (b) (2) (b) and (c)
(3) (c) and (d) (4) (a)and (d)
Options:

BE15475425321. 1
B1547542322 2
61547542323, 3
61547542324, 4

Question Number : 106 Question Id : 61547510854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e areqrra sieg O faw & (20) =1 6 91 5 siaw ufa=ae & faeg & w0 8 afvarfie e st w27

(a) E%

(b)  FAHE

(¢) 9

(d) 9

a7 e &1 =4 Fifeu

(1) (a) 3 (b) (2) () 31 ()

(3)  (e) 3 (d) 4) (a) 3V ()
Options:

E15475425321. 1
B1547542322 2
615475425323, 3
61547542324, 4

Question Number : 107 Question 1d : 61547510855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which two elements of comparison. according to Umberto Eco are important for the process

of metaphor formation?
(a) tenor

(b) signifier

(c) signified

(d) vehicle

Choose the correct option :

(1) (b) and (c) (2) (a) and (b)
(3) (a) and (d) (4) (c) and (d)
Options:

B1547542325. 1
61547542326, 2
61547542327, 3
61547542328, 4

Question Number : 107 Question Id : 61547510855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SA¥E] 31 F SAFHT B T | I 2 qe-Tensd] % Ageayl 41 ded FH-H 27

(a) wfuaya 3¢ (290)
(b)  va Al s (e
(€  v&afeaed (FriEEe)

(@) WA (AEfwA)

O e &1 =99 4 ;

(1) (o) 3R (¢) (2) (a) 3 (b)

(3) ()3 (D 4) (o) ¥R (d)

Options:

61547542325,
E154754232E.
61547542227,
61547542328,

o LIRS

Question Number : 108 Question Id : 61547510856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Among the following statements which are applicable to the 1dea of motif?

(a) Motifs are deduced from situations and by an act of abstraction one can recognize

them
(b) Motif provides a synopsis of happenings in the order they occur 1n the text
(c) Motif 15 performed subject matter

(d) Motif 15 a design of structure that recurs frequently

Choose the correct option :

(1) (a) and (b) (2) (c)and (d)

(3)  (b) and (c) (4) (a)and (d)

Options:

61547542329,
61547542330,
61547542331,
E15475423232,

[ N

Question Number : 108 Question Id : 61547510856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



faeferfian srfasraal 4 @ U8 -4 v 2 o ga 9@ (H9ifes) = faan w2

(a)  geram (difew) afdeafadi d aun srydfasm s, e sfamfia o2 wwd 2, 3 seqd 2d 2
(b)  geAurE (Hifew) urza g O ufea gensdi & w0 d g ) w9 92 i 2

(©  geAuEl 4 fava = =1 FomEa fe s 2)

(d  gerwra (WifEE) e o sy 2 Sl g 2 wd 2

& A% =1 == Fifau
(1) (a) 3% (b) (2) () 31 (d)
(3)  (b) W (¢) (4) (a) 37 (d)
Options:
L1547E422329 1
1547542220 2
L1E47E42221. =2
L1E47FEAZZE22 4

Question Number : 109 Question Id : 61547510857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which two umits among the following are classified as ‘epic drama’ in Albert Guerard's

Preface to World Literature?

(a) The Tempest

(b) Shelly's Prometheus Unbound
(c) The plays of Mohere

(d) The plays of Aeschylus

Choose the correct option :

(1) (a) and (c) (2) (c) and (d)
(3) (b) and (c) (4) (b) and (d)
Options:

BE1547542233. 1
61547542234, 2
61547542335 3
61547542336, 4

Question Number : 109 Question Id : 61547510857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Head 2H = fava wrfess 1 wramEn (e 2 902 fae=n) 4 feafafea § 3 fa 2 v =0 ufus g +

w0 H Jfisd fohan o 27
(a)  EonE

(b)  Srefst drifor srETEe

(¢) Wit & q1eeh

(d)  ufERed & e

HE ey &1 954 #:i

1) (a) 3 () (2) (o) 3 (d)
(3)  (b) 3 (o) @ () 3R (d)
Options:

515475422333, 1
61547542324, 2
61547542335 3
E1547542536. 4

Question Number : 110 Question Id : 61547510858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are features of Mughal architecture?
(a) curved pagoda hke corners

(b) bulbous domes

(c) carved figures on either side of entrance

(d) slender minarets with cupolas

Choose the correct option :

(1)  (b) and (d) (2) (a) and (b)
(3)  (c)and (d) (4) (b) and (c)
Options:

61547542337, 1
61547542338, 2
E1547542239. 3



E1547542240. 4

Question Number : 110 Question Id : 61547510858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feferfiad T € e ardeet] & FH-HE siaasm 27
(a)  wire Sl Terdes FH
(b) AR T[EAE
(c) TAIIER % 241 31T Iehivia =

(d) Bl g gl diAH

o a1 =1 =94 Fifeu ;

(1) (b) 37 (d) (2) (a) 3 (b)
(3) (o) 3 (d) @) (b) HF (c)
Options:

61547542357, 1
E15475425338. 2
E1547542239. 3
61547542240, 4

Question Number : 111 Question Id : 61547510859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which statement 1s related to the 1dea of "Ekphrasis™?

(a) a musical composition

(b) the detailed description of a visual art as a hiterary device
(c) an architectural device

(d) a genealogy of painters

Options:

615475422411
61547542342 2
61547542343, 3
E15475425344. 4

Question Number : 111 Question Id : 61547510859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘wrmE = faar O fy e = ey 27
() Uk Hfiqagy =
(b) S -Fell & \riafcde 37T o w9 4 fawed fao=m
(c) s AT IR 3T |
CINREEE I EHIETH]
Options:
61547542341, 1
51547542342, 2

61547542342 3
61547542344 4

Question Number : 112 Question Id : 61547510860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following wrote How to Read Donald Duck?
(a) Walt Disney
(b) Amrel Dorfman

(c) David Damrosch

(d) Armand Mattelart

Choose the correct option :

(1)  (a)and (c) (2) (b)and (c)
(3)  (b) and (d) (4) (c) and (d)
Options:

E15475422345. 1
E15475422346. 2
B15475422347. 3
615475422458, 4

Question Number : 112 Question 1d : 61547510860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fferiaa 0| frad e g fig SHee 2 foran 27

(@) w2 Tl

(b)  ufrel gk
()  =fazewim

(d)  3Hfcs deee

a# faFeg =1 =999 Fifeo ;

(1) (a) 3 (0) (2)  (b) 311 (¢)
(3) ()3 @) @) (o) ¥R (d)
Options:

61547542345 1
E154754234E. 2
E15475422347. 3
61547542248, 4

Question Number : 113 Question Id : 61547510861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following are films adapted from Munshi Premchand’s writings?
(a) Samskara

(b) Sadgati

(c) Shatranj Ke Khilad:

(d) Ghatasradha

Choose the correct pair:

(1) (a) and (b} (2) (b)and (d)
(3) (b) and (c) (4) (a)and (d)
Options:

61547542349 1
61547542350, 2
E1547542351. 3
B15475425352. 4

Question Number : 113 Question Id : 61547510861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-

Treferiiaa | 9 5 H - [ed gofl =g il = = w27

(a)  HERR
(b) =g
(c)  aid & figerd
(d) =&

g faseq &1 =91 i

(1) (a) 3 (b) (2) (b) 3 (d)
(3) () ¥ (o) @) (a) 3N (@)
Options:

615475423491
E1547542350. 2
E15475425351. 3
61547542352, 4

Question Number : 114 Question Id : 61547510862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who among the following have created graphic narrative adaptations of the Mahabharata?
(a) Matt Wiegle

(b) Sibaj1 Bandyopadhyay

(c) K M George

(d) Indranath Choudhum

Choose the correct option :

(1) (a) and (b) (2) (b) and (c)
(3) (c) and (d) (4) (d)and (a)
Options:

B15475425353. 1
61547542354, 2
61547542355, 3
61547542356, 4

Question Number : 114 Question 1d : 61547510862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tepegforfiaa | 9 foraa waramd o faaree s auiTers sur=ro 1 gsH fHan 27
(a) ez A

(by  TorETsh SgaMTEaTy

(¢)  h.UH, s

(d) g

fopfetfiaa 1 9 et fase %1 == fifi

(1) (a) 3 (b) (2)  (b) 3 (c)

3) (o) 3 (@ 4 (@ 3 (a)
Options:

B15475425353. 1
61547542354, 2
61547542355 3
61547542356, 4

Question Number : 115 Question Id : 61547510863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Through which of these two terms can the impact of one literary system on another be

analysed?

(a) Polygenesis
(b) Hospitahity
(c) Survival

(d) Analogy

Choose the correct pair :

(1) (a) and (b) (2) (a)and (d)
(3) (b) and (c) (4) (c)and (d)
Options:

E1547542357. 1
61547542358, 2
61547542359, 3
61547542360, 4

Question Number : 115 Question 1d : 61547510863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fereli wer wfefere womeft =1 g8t W ued aret warE w1 o fre wreei % e ferfea forn s w21

(a)  wEygersdl (uifcrsiiay)

(b)  fasaan (2iferefad)

(€ Al

(d) A7l

|l fashey &1 =34 Fifau ;

(1) (a) 3 (b) 2) (a) 3N (@

(3)  (b) 3 (0) @) (c) #W (D)
Options:

61547542357, 1
61547542358, 2
E1547542359. 3
E1547542360. 4

Question Number : 116 Question Id : 61547510864 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following translation theorists with thelr ideas.

List I List IT
(theorist) (1deas)
(a) Walter Benjamin (1) foreigmizing translation
(b) Friedrich Schleiermacher (1) 1intersemmotic translation
(c) Roman Jacobson (1) paraphrase
(d) John Dryden (1v) translation as afterlife of a text

Choose the right option :

(1) (a)-(m). (b)-(1v). (c)-@). (d)-(1)
(2) (a)-(11). (b)-(111), (e)-(1v). (d)-(1)
(3) (a)-(1v). (b)-(2). (c)-(1). (d)-(11)
(4) (a)-(2). (b)-(1v). (c)-(111). (d)-(11)

Options:

615475425611
1547542362, 2
61547542363 o
61547542364 4

Question Number : 116 Question 1d : 61547510864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



frefetfiaa sigame Fagrasr o 3= fa=m 9 fuerm ifs)

-1 -1
fa T feram
(@) Aleet ST G) A fagafiem
(b) fgh sermgramER (i) ARATETE AT
() T A (iii) ATEHATE
(d) ¥ gHEA (iv) I3 =l 3 Sfifae % €91 Hqan

aé fager = =93 %1

(1) (a)-(w). (b)-aw). (¢)-Q1). (d-(11)
(2)  (a)-). (b)-(w1), (¢)-(v). (d)-()
(3)  (a)-av). (b)-(). (0)-(11). (d)-(u)
4 (@)-1). (b)-v). (o)-(111). (d)-(11)

Options:

61547542261, 1
61547542362 2
61547542363 o
61547542364 4

Question Number : 117 Question Id : 61547510865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the writers with their works

List I List IT
(Writer) (Work)
(a) Abul Fazl ibn Mubarak (1) Humayunnamah
(b) Gul Badan Begum () Muntakhaf al Tawarikh
() Albirum (m) Akbarnamah
(d) Albadayun (iv) Tahqgigmali-i-hind

Choose the correct option from those given below :

(1)  (a)-u), (b)-). (e)-(v). (d)-(11)
(2)  (a)-(w). (b)-(11). (e)-(2), (d)-(11)
(3) (a)-(11). (b)-(iv). (c)-(i11). (d)-(1)
4 (@-u). (b)-av). (c)-Q). (d)-(u)

Options:

61547542365, 1
61547542366 2
E1547542267. 2
61547542268, 4

Question Number : 117 Question Id : 61547510865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e ekl 37R 3R] il o1 gHe it -

-1 111
e Ffd
(a) 3 Folcd 357 YR (1)  EHEEHE
(b) [ sfEA sHTH (i) YEr Hd daihE
(€) AT (i) TR
(d) SFAEEH (iv) dedrErrf-z-fe=

feryferfiae o & e farea =1 = =1 .

(1) (a)-(m). (b)-(1). (e)-(v). (d)-(w)
(2)  (a)-Gv). (b)-(iid). (c)-(). (d)-(iD)
(3)  (a)-@i). (b)-(v). (¢)-(iii). (d)-(1)
4)  (a)-(w). (b)-(v). (c)-Q). (d)-(w)

Options:

61547542365,
61547542366,
£1547542367.
E1547542368.

[ N

Question Number : 118 Question Id : 61547510866 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the vritti-s with the corresponding rasa-s

List I Last IT
(vritta) (rasa)

(a) Kaishika (1) Vira

(b) Bharat (1) Raudra

(c) Sattvati (1) Shringara

(d) Arabhati (iv) For all rasa-s

Choose the correct option from those given below :

(1) (a)-(n). (b)-(11). (e)-(112). (d)-(1v)
(2) (a)-(v). (b)-(i11). ()-(11). (d)-(@)
(3) (a)-(111). (b)-(1v). (¢)-(1). (d)-(12)
(4) (a)-(11). (b)-(11), (¢)-(1v). (d)-(2)

Options:

61547542269, 1
61547542370 2
61547542371, 2
61547542372 4

Question Number : 118 Question 1d : 61547510866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



oy aferi =1 348 waiford i % g gafera Fifs -

eI i1
o o
() T G i
(b) T i =
() ATl (i) M
(d) smad (iv) i i % fero
Tepferiaa 49 w2 fasey =1 = L ;

(1) (@-@). (b)-(D). (¢)-(11). (d)-(v)
(2)  (a)-v). (b)-(m). (¢)-(11). (d)-(1)
(3) (-, (b)-v). (e)-@). (d)-{1)
@) (@)-(w). (b)-). (©)-(1v). (d)-1)

Options:

£15475423269. 1
61547542270, 2
61547542371, 5
61547542372 4

Question Number : 119 Question Id : 61547510867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the name of poeticians with the school they are associated within Sanskrit poetics:

List I List IT
(Poetician) (School)
(a) Bhamah (1) Dhvam
(b) Vamana (1) Alamkara
(¢) Anandavardhana (i11) Vakrokti
(d) Kuntaka (iv) Rita

Choose the correct option from those given below :

(D (2)-). (b)-(). (e)-(iv). (d)-(D)
(2)  ()-(11), (b)-(v), (e)-(). (d)-(1i1)
(3) (a)-(1v). (b)-(1). (¢)-(111), (d)-(11)
@ (@-0). B)-GD. (©-[id). (d)-0v)

Options:

£1547542373. 1
E1547542374 2
61547542275, 5
61547542376, 4

Question Number : 119 Question Id : 61547510867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Had HTeHeE 4 Hifeed FErTeRl o ATH] %1 3 d9Eri o 919 gHer S

-1 S ini
Hifeea -fagiasn it
e 5 @
(b) Er4d i) R
(c) HH=aHA Gi) IR
W e (iv) Tifd
feperferfiam 4 4 w2 faen @1 s i -

(1) (@-1m). (b)-). (c)-av). (d)-{1)
(2)  (a)-(). (b)-(v). (e)-(1). (d)-(111)
(3)  (a)-(v). (b)-(). (0)-(1), (d)-(11)
@ (@-1). (b)-(D. (c)-(111). (d)-(iv)

Options:

615475423731
E1547542374 2
61547542275, 5
61547542376 4

Question Number : 120 Question Id : 61547510868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the authors with their works :

List I List IT
(authors) (works)
(a) Bharawn (1)  Vikramankadeva—charitam
(b) Shriharsha (1) Shishupalvadha
(c) Magha (1) Kiratarjunivam
(dy Bilhana (1v) Naishadhiyacharitam

Choose the correct option from those given below :

(1) (2)-(). (b)-(). (c)-(u). (d)-(v)
2) (2)-(). ®)-O. (©)-Gv). (d)-(11)
(3 (a)-(u). (b)-v). (c)-(1). (d)-(1)
4)  (@-(w). (b)-(n). (c)-(). (d)-(1)

Options:

£1547542377. 1
E1547542278. 2
61547542279, 5
61547542280 4

Question Number : 120 Question Id : 61547510868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frefafiaa el st 3 Fhel 1 e fifs)

g1 g=fi-11
e Ffd
(a) Wl (i) TasurRaa Sy
(b) #ied (i) forgmreras
(c) HM (ii1) TRATATSHEY
(@) faerm (iv) uefig =iy

freferfiaa 9 9 v fageg a1 9aa =1

(1) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)
@) (a)-(i). ®)-G). (©)-(1v). (d)-(ii)
(3) (a)-(111). (b)-(1v). (e)-(12). (d)-(1)
(4) (a)-(v). (b)-(111), (¢)-(11). (d)-(1)

Options:
E1547542377.

E1547542378.
B1547542373.
51547542380,

e 1 =

Question Number : 121 Question 1d : 61547510869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the form with what it means :

List I Last IT
(form) (meaning)
(a) Champu (1) a composition with two languages
(b) Pattu (1) a biographical composition
(¢) Manipravala (1) lyrical poetry (song)
(d) Charita (iv) a composition with mixed with prose
and verse

Choose the corect option from the given below :

() (a)-(). (b)-(11). (¢)-(v). (d)-(11)
(2)  (a)-(i). (b)-(). (¢)-Gi). (d)-(iv)
(3) (a)-(iv). (b)-(11). (e)-(1). (d)-(11)
(4) (a)-(11). (b)-(v). (c)-(111). (d)-(1)

Options:

615475425511
615475422382, 2
61547542383 o
61547542354 4

Question Number : 121 Question 1d : 61547510869 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



freferfian wfzfers famsti =i s wifvarfer samem 4 gafeaa $ifso)

-1 HqH1-11
e =19
(a) =7 () = amie] e me g Fg =
(b) HIZZ (i) ST 9
(¢) wryaTe (iii) 3 F1= (i)
(d) =i (iv) 124 vd 75 fafm =
frferfiga | 1 w2 faweq =1 =27 Fif

(1) (2)-0). (b)-G1). (e)-(1v). (d)-(i1)
(2)  (a)-(1), (b)-(). (e)-(11). (d)-(Av)
(3)  (a)-v). (b)-(m1). (c)-(2), (d)-(11)
@ (@-(1D). (b)-(v). (¢)-(id). (d)-()

Options:
1547542251, 1

E1547542382. 2
B1547542383. 3
615475422384, 4

Question Number : 122 Question Id : 61547510870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following thematic terms with their examples.

Last I List IT
(thematic terms) (examples)
(a) motif () Rama
(b) Situation (1) Antizone
(c) Heroic theme (m) Jealousy
(d) Situational theme (1v) love between one man and two women

Choose the right option :

(1) (a)-Gv). (b)-(iid). (e)-(1). (d)-(id)
(2)  (2)-(1). (b)-(1). (e)-(v). (d)-(1)
(3) (a)-(). (b)-(11), (¢)-(1v). (d)-(2)
@ (a)-(1). (b)-(v). (c)-(1). (d)-(itl)

Options:

61547542385 1
E15475423286 2
61547542287, 5
61547542288, 4

Question Number : 122 Question Id : 61547510870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Feferfiaa fawa—aeq Aa+ 921 %1 39 32 | gafor Fifm)

qH1-1 111
feres —aeq Ha+fi ug T
(a) YA YHE (1) M
(b) wirfrafd (i)  ufe
(c) erafer foma o (i) gel
(d) wffefaa= g (iv) U ¥ 37 2 wfeensii o = i
He fased =1 =g4 = ;

(1) (@-(w). (b)-(u), (c)-(a), (d)-(11)
(2)  (a)-(w). (b)-(). (c)-{1v). (d)-(1)
(3)  (a)-(1). (b)-(11), (e)-(1v). (d)-(1)
4)  (a)-(). (b)-(v). (¢)-(1). (d)-(111)

Options:

61547542385, 1
61547542386 2
E1547542287. 2
615475422588, 4

Question Number : 123 Question Id : 61547510871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Associate these 1deas with the philosophers who were their originators.

ListI List IT
(1deas) (philosophers)
(a) Iandthou (1)  Michael Polanyn
(b) tacit knowing (1) Diogenes
(c) perpetual peace (1) Martin Buber
(d) cosmopolitanism (1v) Immanuel Kant

Choose the right option:

(1) (a)-(1). (b)-(1v). (e)-(11). (d)-(111)
(2) (a)-(11). (b)-(111), (c)-(1), (d)-(1v)
(3) (a)-(111). (b)-(2). (€)-(1v), (d)-(11)
(4) (a)-(wv). (b)-(111). (e)-(11). (d)-(1)

Options:

615475423589, 1

61547542390 2

615475423391, 3
E154754253592. 4

Question Number : 123 Question Id : 61547510871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freferfiara feremd =1 3ae wfaurees areife | gaferd Fifsu -

e gefi-11
e Gt
(a) AT UV 213 A D
B Giy feifa
(¢) WUgHE i i) S R
) (v) SHIISAE e
foeferfiaa 3 4 fasren a1 < fifore

(1) @-Q). (b)-(v). (c)-(1). (d)-(1i1)
2)  (a)-w), (b)-(m). (c)-1). (d)-Qv)
(3)  (@-Gw. (b)-). (e)-0v). (d)-(D)
4 (@-w). (b)-(11). (c)-(). (d)-(1)

Options:

615475423589, 1
61547542390 2
61547542391 2
E1547542292 4

Question Number : 124 Question Id : 61547510872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following graphic novels with their authors.

List I List IT
(graphic novels) (authors)
(a) Fun Home (1)  Art Spiegelman
(b) A Contract with God (1) Cralg Thomas
(c) Blankets (1) Will Eisner
(d) Maus (1v) Alison Bechdel

Choose the right option from those given below :

(1) (a)-(1). (b)-(11), (¢)-(111). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(111). (d)-(1v)
(3)  (a)-(i1). (b)-(1). (c)-(11). (d)-(iv)
4 (2)-1v). (b)-(iii). (¢)-(). (d)-(1)

Options:

61547542393 1
61547542394 2
E1547542295 =2
61547542296, 4

Question Number : 124 Question Id : 61547510872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freferfiaa fesmens: su=arl (witesr Aide) =1 394 orEshi | gufora Fifw .-

-1 g 11
GIEIEER e CET
(a) A (1) A wIRTera
(b) usHdHe {au e @) 3 e
() wIkaH (i) e smesn
(d) HH (iv) HlAdH sezel

freferfiga O 9 w8 faseg =1 =3 =1

(1) (@)-Q). (b)-(). (e)-(u), (d)-(v)
(2} (ﬂ}-{]l}, {b}'{l}- {C}-{l]_'l), {d}-{l’iﬁ’}l
(3)  (a)-(). (b)-(1). (¢)-(0). (d)-(iv)
(4) (a)-(v). (b)-(111). (e)-(11). (d)-(1)
Options:
61547542293,
61547542394,

615475423595,
61547542396,

b LI P

Question Number : 125 Question 1d : 61547510873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the Ragas with their description.

List I List IT
(raga) (description)
(a) Bhairawn (11  Denoting Spring time
(b) Bihag (1) Denoting the early morning
() Malhaar (1) Denoting late mght
(d) Bahaar (iv) Denoting monsoon time

Choose the correct option from those given below.

(1) (a)-(111). (b)-(iv). (c)-(1). (d)-(11)
(2) (a)-(v). (b)-(1). (e)-(11), (d)-(111)
(3) (a)-(1v). (b)-(ii1). (c)-(1). (d)-(11)
(4) (a)-(11). (b)-(111), (e)-(1v). (d)-(1)

Options:

61547542397, 1

615475423298 2

61547542399, 3
E1547542400. 4

Question Number : 125 Question Id : 61547510873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aui4 =1 T & gafaa i)

HA1-1 111
T avf4
(2) Wl () A g
(b) forzm (i) I
(c) Heel (iii) T =1 Af=m wer
(d) #&w (iv) a9l =
T ferfiaa 4 4 = fasen = =49 1

(L) (a)-G1), (b)-v). (¢)-{1), (d)-@D)
(2)  (a)-v). (b)-(). (0)-(1). (d)-(11)
(3)  (a)-av). (b)-(111). ()-(2). (d)-(11)
4 (a2)-11). (b)-(11), (¢)-(v). (d)-(1)

Options:
E1547542297.

E15475425395.
B1547542399,
51547542400,

[ N

Question Number : 126 Question Id : 61547510874 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following describes. in correct sequential order. the four levels of reality

mentioned by Plato in Book VI?
(1) pure 1deas. objects, 1mages. essences (2) 1mages. objects, essence. pure 1deas

(3) lmages, essence, objects, pure ideas  (4) objects. 1mages, essence. pure 1deas

ferferfiard 0 & foreh g1 J5aeh @2 (3 IV) 3 wetel 3 & (Feoferd ) o =m %] o @&l ugHaa | aviq fwa 27

(1)  To=n (v AEfens) a5, wiaey, 9cd (2)  Wiesd, 35U, 96, H=En (= sefzae)
(3)  uldEn, vea, U, fa=9n (W JEfEare) (@) e, uiosy, g6, fan (o sefeam)



Options:

61547542401, 1
61547542402 2
E1547542403. 2
61547542404, 4

Question Number : 126 Question Id : 61547510874 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tperferfiaa © & ek g g @ (g IV) H et 3 aen (Froferd) ) 3 = el 3 g vargg o avfa faran 27

(1) T (m sefens) awqu, wiosy, oed () oiosd, 950, 9, fa=m (@R smfzae)

(3)  ufasy, Hea, aequ, faam (Wr safeas) @) awqe, gitsy, 5&, faamr (9 sfsas)

Options:

61547542401, 1
61547542402 2
61547542403 =
61547542404 4

Question Number : 127 Question 1d : 61547510875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following groups of the writers has, 1n the given order, written these short

stories: “Paheli”. "Genda”. “Chhata”. "Mangamma the Curd Seller”
(1) Ismat Chughtai, Shiva Kumar Rai, Masti Venkatesh Ivengar. Vijaydan Detha
(2) Vijaydan Detha. Ismat Chughtai, Shiva Kumar Rai, Masti Venkatesh Iyengar

(3) Mast1 Venkatesh Iyengar. Ismat Chughtai. Vijaydan Detha. Shiva Kumar Rai

(4) Shiva Kumar Rai. Vijavdam Detha, Ismat Chughtai. Masti Venkatesh Ivengar

Options:

51547542405, 1
61547542406, 2
61547542407, =
61547542408, 4

Question Number : 127 Question 1d : 61547510875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



erarahi o, fau o s 0 Frefofia § @ 3% fraage 3w, e, Uamn”, amem ag 2 e der”

e -l i = 2

(1)  =o9a s, V@ 0 T, 0] dehy 39R, 98 do
(2)  TastaEr 2o, 3aa s, WIESEE T, Hed] el ST
(3) Wl eI IR, A s, faeeE g, HeagEn 1

(4)  TvEgar 1 fosmer a9, 39d s, Wl 9909 JTH

Options:

61547542405, 1
61547542406, 2
61547542407, 5
61547542408, 4

Question Number : 128 Question Id : 61547510876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following clusters 1s in right chronological order?
(1) Bhasa. Bhavabhuti. Shudraka. Sriharsha

(2) Bhasa, Bhavabhuti. Sriharsha,. Ashvagosha

(3) Ashvaghosha. Bhasa, Shudraka. Jayadeva

(4) Ashvaghosha. Jayadeva, Bhasa. Shudraka

Options:

51547542409, 1
61547542410, 2
61547542411, 5
61547542412 4

Question Number : 128 Question Id : 61547510876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Freferfiaa 1 @ % - oy wd Frefemas Fu 3 27

(1) 9™, ga4fd, 9, e
(2) oM, 93qfa, dred, SAvEEy
(3) AN, uTH, IEF, F9<d

(4)  SAvAIN, ST, WH, IEF

Options:

61547542409, 1
61547542410 2
61547542411, =
61547542412 4

Question Number : 129 Question 1d : 61547510877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s the correct chronological order of the rewriting of Ramayana in

different Indian languages?

(1) Ramcharitmanas, Sri Ram Panchali, Saptakanda. Kamba Ramayana

(2) Kamba Ramavana, Sri Ram Panchali, Saptakanda, Ramcharitmanas

(3) Sri Ram Panchali, Kamba Ramayan, Saptakanda, Ramcharitmanas

(4) Saptakanda, Kamba Ramayan. Sri Ram Panchali, Ramcharitmanas
Options:

615475424131
61547542414, 2
61547542415 3
E1547542416. 4

Question Number : 129 Question Id : 61547510877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



f=rferfiaa 4 4 m fata= awet ars | maravn 61 S = 5 E98 FTem HE JIFE 87

(1) Tg=E 9HA, S g=Te], ST, i T

(2) S T, 4 =1, s, T9EHayH=y

(3) S0 g1, e TR, SedTS, T iagEE

(4) RIS, =5 T, S0 9=, Te=iayrEs

Options:

61547542413,
61547542414,
51547542415,
61547542416,

o IR

Question Number : 130 Question Id : 61547510878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following arrangements of early Indian novels 1s in the correct chronological

order?

(1) Chha Mana Atha Guntha, Indulekha, Rajasekhara Charitra, Umrao Jaan Ada
(2) Rajasekhara Charitra, Chha Mana Atha Guntha, Indulekah, Umrao Jaan Ada
(3) Rajasekhara Charitra, Indulekha, Umrao Jaan Ada, Chha Mana Atha Guntha
(4) Indulekha. Rajasekhara Charitra, Umrao Jaan Ada, Chha Mana Atha Guntha

Options:

61547542417, 1
61547542418 2
61547542419 =
61547542420 4

Question Number : 130 Question 1d : 61547510878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
YT ST 3T ) e O | sH - 3 9E e - 4 sgafid 27

(1) & AR U3, F5eidl, TSR Fid, 39909 SH 3441
(2)  TISIIRE A, B 0 13 1S, S5oidl, 397 S H5E
(3)  TreTIER wfid, segord, IWE 9H El, ¥ 9A 13 03

(4)  gegorE, TEiE Aftd, 3HE 9H 38, @ 5 318 U3



Options:

61547542417, 1
61547542418 2
£1547542419 2
61547542420, 4

Question Number : 131 Question Id : 61547510879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following group of writers has formulated in the given order. these
theories — horizon of expectation. Dasein. sedimentation. fusion of horizons?

(1) Heidegger, Jauss, Merleau Ponty. Gadamer

(2) Gadamer. Jauss. Merleau Ponty.Heidegger

(3) Heidegger, Merleau Ponty, Jauss, Gadamer

(4) Jauss.Heidegger, Merleau Ponty. Gadamer

Options:

61547542421, 1
61547542422 2
61547542422 =2
E1547542424 4

Question Number : 131 Question Id : 61547510879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
413 foo o s d Sl F g ogg 3 EigeR w6 uRUEeeH, SR, AfEvE, BEE o eiEsH
g =1 saE g fhm 27

(1)  EESR, 9139, el 9idl, T2
(2) =, 9134, WAl 9idl, FESH

(3)  ETESTR, HeAl Wi, I13H, T
(4)  I13W, BESW, Al Ui, TS

Options:

61547542421, 1
61547542422 2
61547542422 5
61547542424 4

Question Number : 132 Question Id : 61547510880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following writers has. in the given order. created these characters in their

short stories: “Ishar Singh”, “Jashoda”, “Halker”, “Kunjupathuma™?
(1) Saadat Hasan Manto. Mahasweta Devi. Premchand. Vaikkom Mohammad Basheer
(2) Valkkom Mohammad Basheer. Mahasweta Devi.Saadat Hasan Manto. Premchand
(3) Mahasweta Devl, Vaikkom Mohammad Basheer. Saadat Hasan Manto. Premchand.
(4) Premchand, Mahasweta Devi. Vaikkom Mohammad Basheer, Saadat Hasan Manto
Options:
61547542425 1
615475424726 2

61547542427, 3
61547542425, 4

Question Number : 132 Question Id : 61547510880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
f=ferfiaa U & e ohgenl 3 91 2o 10 @n O 1o sheTHAl o 9l ol = o 2 3ee e, Seie, B,
EE Rkl
(1) B[S 899 W2, Yervdd <o, Yode, Graem qremg 99
(2) 9 Qe F3ii, gervad) ¢, asred 25 g2, UneEe
(3)  WHEwEd <, IEHY Ee 9901, BeEd 894 941, U=

(4)  Unee, YEIvaA) <o, A giEnE |y, 43Ed 2699 U2

Options:

51547542425, 1
61547542426 2
61547542427 o
61547542428 4

Question Number : 133 Question 1d : 61547510881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one 1z the rmght chronological order of the ACLA Reports?

(1) Bernheimer Report., Saussy Report. Levin Report, Greene Report
(2) Saussy Report. Levin Report, Bernheimer Report. Greene Report
(3) Levin Report. Greene Report. Bernheimer Report. Saussy Report.

(4) Greene Report. Bernheimer Report. Saussy Report. Levin Report



Options:

61547542429, 1
61547542420 2
E1547542421. =2
61547542422, 4

Question Number : 133 Question Id : 61547510881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
f=ferfiaa 448 %8 v ve o foard o a8 w9 27
(1)  sHeqr g, mnsdHi foord | wifa foard, i foard
@ | o, afem fodid, s foar, o foird
(3) ot fogrd, o foard, sefeme foord | wved) oo
(4) 3= foard, adens fodred, wrsei foaid, ifam foard
Options:
61547542429, 1
£1547542430. 2

E1547542421. 3
B154754243%2. 4

Question Number : 134 Question Id : 61547510882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In order of thelr appearance as literary forms.which of the following cluster 1= in the right
chronological order?

(1) Sonnet, Miracle Plays, Novel, Epic
(2) Epic, Sonnet, Miracle Plays, Novel
(3) Epic. Miracle Plays. Sonnet, Novel
(4) Miracle Plays, Epic. Sonnet. Novel

Options:

61547542453 1

61547542424 2

61547542435 3
615475424356, 4

Question Number : 134 Question Id : 61547510882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freferfiaa 1 9 =m -8 arfefeaes w9 (e v )39 3598 & 9 # w9 i srafeq 2 7

(1)  =qEed (SF2), S9cr T1ee (e @), 39 (A7 ), Bee (ofie)
@) e (Ul , FqEeTE (Hi2), weRn e (T ) , 39 (A7)

(3)  wErEE (vfue), FueER Aiees (e w ), adaemd (|92, 39 (H99)

- .

@) R A (T w), HerEe (i), Sqderd (|2, 39 (FE)

Options:

61547542433, 1
61547542424 2
61547542435 =
61547542436 4

Question Number : 135 Question 1d : 61547510883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Whach of the following clusters place the given texts in the correct chronological order?

Ramaraja Bahadur, Lachama, Durgeshnadhini. Sivagamivin Sapatham

(1) Swwagamivin Sapatham, Lachama, Durgeshnadhini, Ramaraja Bahadur,
(2) Durgeshnadhini, Lachama. Ramaraja Bahadur, Sivagamiyin Sapatham
(3) Durgeshnadhini, Ramaraja Bahadur, Lachama, Sivagamiyin Sapatham

(4) Lachama. Durgeshnadhini, Sivagamivin Sapatham, Ramaraja Bahadur
Options:
15475424571
61547542428 2
61547542459 3
1547542440 4

Question Number : 135 Question Id : 61547510883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

foreyferfiaa @@ = a fawes = fordl wasi =1 98 Freta 4 sxafeem &t 27

(1) el ey, e, 509 S, s "wE

(2) s A, Srwun, TS aerE, SrEmihiE gey

(3) i AR, TS 9w, dwd, FEmiaiE gem

(4) T4, g Al feremfatiE aey, aas g




Options:

61547542437, 1
61547542438 2
£1547542439 =2
61547542440, 4

Question Number : 136 Question Id : 61547510884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements — one 1s labeled as Assertion (A) and the other labeled as

Reason (R):

Assertion (A):  The i1dea of history of Indian literature 1s a complete anomaly

Reaszon (R) : The history of Indian literature has to be a multilingual history

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) true and (R) 1s the correct explanation of (A)
(2 Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true. but (R) 1s false

(4) (A) 1s false, but (R) 1 true

Options:

61547542441, 1
615475424472 2
61547542443 =
61547542444 4

Question Number : 136 Question Id : 61547510884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (A HA 2w (R) |l =12

(4)  (A) 7T 29 (R) |l 2

Options:

61547542441, 1
615475424472 2
61547542443 =
61547542444 4

Question Number : 137 Question Id : 61547510885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labeled as Asszertion (A) and the other labeled as

Reason (R).

Assertion (A):  All iterary periodizations are arbitrary

Reasons (R) : When a particular point of time 1s chosen by a literary historian. certain
rationalizations are needed if only to highlight the advantages of that

choice.

In the hight of the above two statements choose the correct option :

(1) Both (A) and (R) true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1= true

Options:

51547542445,
61547542446,
61547542447,
61547542448,

[ N Y

Question Number : 137 Question 1d : 61547510885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542445 1
61547542446 2
61547542447 =2
E1547542445 4

Question Number : 138 Question Id : 61547510886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labeled as Assertion (A) and the other labeled as

Reason (R):
Assertion (A):  Translating is always an act of comparative hterary judgment
Reasons (R) : To choose a word. a sentence pattern. a tone, a genre while translating 1s

to offer an analogy between two fields of culture and meaning.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 12 false. but (R) 18 true

Options:

61547542449 1
61547542450, 2
61547542451 =2
E1547542452 4

Question Number : 138 Question Id : 61547510886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542449 1
61547542450 2
61547542451, 5
61547542452 4

Question Number : 139 Question Id : 61547510887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1z labeled as Assertion (A) and the other labeled as

Eeason (R) :

Assertion (A): The way we interact with genres relies on the comparative mechanism of
similarity and difference

Reasons (R) : Generic conventions can be confirmed. frustrated. or subverted. but for

better or for worse they structure all hterary interaction.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1= not the correct explanation of (A)
(3) (A) 12 true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:

61547542453 1
61547542454 2
E1547542455 =
61547542456, 4

Question Number : 139 Question Id : 61547510887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E1547542453

E1547542454,
51547542455,
51547542456,

[ N

Question Number : 140 Question Id : 61547510888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labeled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (4A) : Literature 1s an institutlon where ‘transculturation’ takes place 1n all its
complexity.
Reasons (R) : Literary texts do not simply reflect dominant ideologies. but encode the

tenslons. complexities and nuances within different cultures.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 1s true, but (R) 1= false

(4) (A) 1s false. but (R) 1s true

Options:

61547542457, 1
61547542458 2
61547542459 2
E15475424E80 4

Question Number : 140 Question Id : 61547510888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1E47E42457 1

1547542458 2

E1547542459. 3
61547542460, 4

Sub-Section Number: 2
Sub-Section Id: 615475469
Question Shuffling Allowed : Yes

Question Id : 61547510889 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



Read the following passage and answer the questions 91-95.

What 1s Truth? said jesting Pilate. and would not wait for the answer. Certainly there be,
that delight in giddiness. and count 1t a bondage to fix a belief: affecting free—will 1n thinking
as well as 1n acting. And though the sects of philosophers of that kind be gone, vet there
remain certain discoursing wits, which are of the same veins. though there be not so much
blood in them. as was 1n those ancients. But it 1s not only the difficulty and labour. which
men take in finding out of truth. nor again that when 1t 1z found. it 1mposeth on men's

thoughts, that doth bring lies 1n favour: but a natural, though corrupt love, of the lie 1tself.

Sub questions

Question Number : 141 Question Id : 61547510890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pilate did not wait for the answer because
(1) there 1s no truth

(2) Pilate was not really interested
(3) Pilate valued freedom to think

(4) Pilate was not patient

Options:

61547542461, 1
61547542462 2
61547542463 o
61547542464 4

Question Number : 142 Question 1d : 61547510891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1= the meaning of ‘truth’ in this passage by Franecis Bacon?

(1) That which corresponds to facts (2) That which 1s respected by all
(3) That which 1s contrary to untruth {(4) That which tethers the mind

Options:

61547542465, 1
61547542466 2
E15475424E87. 2
61547542468, 4

Question Number : 143 Question Id : 61547510892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the meaning of the expression ‘free-will in thinking™?

(1) freely willing to think
(2) a condition allowing unconstrained thought
(3) free—will 1s the subject-matter of thinking

(4) intention to be free to think or not think
Options:
1547542469 1
61547542470 2
1547542471 2
C1547542472 4

Question Number : 144 Question Id : 61547510893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What connects “discoursing wits’ and ‘the sects of philosophers™

(1) Their search for truth (2) Thewr high regard for truth
(3) Their disinchnation to find the truth (4) Their disavowal of free-will

Options:

61547542473, 1
61547542474 2
61547542475 o
61547542476 4

Question Number : 145 Question Id : 61547510894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If men do not take interest in ‘finding out the truth’. they
(1) are then not able to favour lies also

(2) may develop a corruptible mind

(3) tend to resort to falsehood

(4) fail to recognise the truth when they find it

Options:

61547542477, 1
E1547542478 2
61547542479, 5
615475424580 4

Question Id : 61547510889 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension
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Sub questions

Question Number : 141 Question Id : 61547510890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547542461, 1
61547542462 2
61547542463 2
61547542464 4

Question Number : 142 Question Id : 61547510891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I S5 & 29 T H He & whagra a2 7
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(3) o 31Ec & faufia & (4) S WAl
Options:

61547542465, 1
61547542486, 2
E15475424E67. 3
E1547542468. 4



Question Number : 143 Question Id : 61547510892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Farier wadaa & whrsafFa wr e wd 27
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Options:

61547542469, 1
61547542470 2
61547542471, 5
61547542472 4

Question Number : 144 Question Id : 61547510893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547542473. 1
61547542474 2
61547542475 3
61547542476, 4

Question Number : 145 Question Id : 61547510894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:
E1547542477. 1

E1547542478. 2
E15475424739. 3



E1547542480. 4

Sub-Section Number: 3
Sub-Section 1d: 615475470
Question Shuffling Allowed : Yes

Question Id : 61547510895 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehiension

Read the following passage and answer the gquestions from 96-100.

Religion being the chief bond of human society, 1t 1= a happy thing. when itself 1s well
contained within the true bond of umity. The quarrels. and divisions about religion. were
evils unknown to the heathen. The reason was. because the religion of the heathen.
conslsted rather 1n rites and ceremonies, than 1in any constant belief. For you may 1imagine.
what kind of faith theirs was., when the chief doctors. and fathers of their church, were the
poets. But the true God hath this attribute. that he 1s a jealous God: and therefore. his
worship and religion, will endure no mixture, nor partner.

Sub questions

Question Number : 146 Question Id : 61547510896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Religion 1s a ‘happy thing” when
(1) 1t consists of customs and practices
(2) 1t has jealous God
(3) 1t has no God
(4) 1t 1s a part of a unified society
Options:
61547542451 1
61547542452 2
61547542453 3
1547542454 4

Question Number : 147 Question 1d : 61547510897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the follotwng two statements are valid for ‘Religion’™?
(a) Religion 1s always a happy thing for a society
(b) Religion 1s good when 1t 1s unified
{(c) Religion has a true God and a false God
(d) Religion must have a belief 1n single divinity
Choose the correction pair:
(1) (a) and (c) (2) (b) and (d)
(3) (c) and (d) (4) (a)and (b)

Options:



E1547542485. 1
61547542486, 2
61547542487, 3
61547542458, 4

Question Number : 148 Question Id : 61547510898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which two of the following statements are valid for the religion of heathens?

(a) It consists 1n one true God
(b) In matter of religion, it accepts multiplicity
(c) It has many rmtuals

(d) It has one constant belief

Choose the correction option:

(1) (a) and (c) (2) (a) and (b)
(3) (b) and (d) (4) (b)and (c)
Options:

61547542459, 1
E1547542430. 2
E15475424391. 3
B154754245%2. 4

Question Number : 149 Question Id : 61547510899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following two statements are vahd for “True God' ?

(a) He has a partner

(b) He does not demand worship

(c) He has atleast one attribute

(d) He 1= worshipped 1n one given way

Choose the correction pair:

(1) (a) and (d) (2) (c) and (d)
(3) (a) and (c) (4) (b)and (d)
Options:

61547542492 1
E1547542454. 2
E1547542435 3
61547542456, 4

Question Number : 150 Question Id : 61547510900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The chief difference between the organised religion and the religion of the heathens consists

n
(1) the presence of rituals (2) the presence of a church
(3) the presence of one divinity (4) the presence of priests

Options:

E15475424587. 1
E15475424398. 2
B15475424595. 3
61547542500, 4

Question Id : 61547510895 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension
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Sub questions

Question Number : 146 Question Id : 61547510896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(4) g ol i TTs o1 WP
Options:

61547542481, 1

61547542482, 2

61547542452, 3
E1547542484. 4

Question Number : 147 Question Id : 61547510897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) 3 () (2 (b) ()
(3) (o) 3 (d) 4) (a) # (b)
Options:

61547542485, 1
615475424586, 2
61547542457, 3
E15475424858. 4

Question Number : 148 Question Id : 61547510898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) 3 (o) (2) (a) 371 (b)

(3)  (b) 3 (d) (4)  (b) 3 (c)
Options:

B1547542459. 1
615475424350 2
61547542431, 3
61547542432, 4

Question Number : 149 Question Id : 61547510899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) 3@ (2) () 31 (d)
(3)  (a) 3 (o) (4)  (b) 31 (d)
Options:

E15475424593. 1
E1547542454. 2
615475424585 3
61547542456, 4

Question Number : 150 Question Id : 61547510900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B15475424597. 1
61547542458, 2
6154754243949, 3
61547542500, 4



